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Question Number : 1 Question Id : 103435809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. * MNOP
2. ¥ ACDE
3. * GHI
4. % UVWX

Question Number : 1 Question Id : 103435809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e fawmed & 9 & Te Y e I 90 § | 8TalD, Uh fAwed o1 diF & de -Te] ¢ | 39 [aded &1 78 &3 oIl 37 ¥ 3T g |
Options :

1. ¥ MNOP

2. ¥ ACDE

3. % GHIJ

4. ¥ UVWX

Question Number : 2 Question Id : 103435810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the next term in the following series.
AJK, DLM, GNO, ?

Options :
1. # PQH
2. ¥ JPQ
3. % APQ
4. % GPQ

Question Number : 2 Question Id : 103435810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafRad e & SFTaT U I R 1

AJK, DLM, GNO, ?
Options :
1. # PQH
2. ¥ JPQ
3. % APQ
4. % GPQ

Question Number : 3 Question Id : 103435811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. * Herd

2. % Colony
3. % Army
4. ¥ Solitary

Question Number : 3 Question Id : 103435811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e faedl 7 @ & T AT 9% I UM &1 gy, T [Ahed 370 diF &1 aRE 81 8| 39 ey o1 T &3 off 370 T 3T g |
Options :

1. % JUs

2. % JUMHAR

3. % T

4, ¢ Udld

Question Number : 4 Question Id : 103435812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find a pair which has the same relation as the given pair.
bus and train

Options :

1. * sun and moon

2. ¥ spoon and fork
3. % cap and belt

4. # light and dark

Question Number : 4 Question Id : 103435812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g8 SISl 1 B3 o Jae &) 178 sl & A gl 8
Y 3R YerTmel!

Options :

1. % g¥ 3R 9%

2. I 3R PicT
3. % AU 3R ST
4. % THT 3R 3HERT

Question Number : 5 Question Id : 103435813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
ASDQ : QSDA :: QRTY : ?

Options :

1. ¥ YTRQ

2. % RTYQ

3. % QYTR

4. ¥ YRTQ

Question Number : 5 Question Id : 103435813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAHed BT 997 B S iR UG ¥ 341 UHR ¥ Yafdd g fo JR ¥ gOR1 UG Ugd Ug ¥ Hafed g
ASDQ : QSDA :: QRTY : ?

Options :

1. % YTRQ

2. % RTYQ

3. % QYTR

4. YRTQ




Question Number : 6 Question Id : 103435814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code if EQUALITY is written as QELIUAYT, then LAUGHTER will be written as:
Options :

1. ¥ ALGUTHRE

2. ¥ ALHTUGRE

3. % UALHGRET

4. % GLUARHTE

Question Number : 6 Question Id : 103435814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U A% B § afe EQUALITY &1 QELIUAYT & =0 H fora 71 §, ff LAUGHTER 1 forar Simee:
Options :

1. % ALGUTHRE

2. ¥ ALHTUGRE

3. % UALHGRET

4. % GLUARHTE

Question Number : 7 Question Id : 103435815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if TRAIN is coded as 79261813 and SHIP as 8191811 then what would be the code for TAXI ?
Options :

1. % 713862

2.9 726318

3. % 786321

4. % 768312

Question Number : 7 Question Id : 103435815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

U (AfYd pig U H, afe TRAIN 1 79261813 & U H Hifd foodr T € MR SHIP &Y 8191811 & ¥4 H HIfSd fosar T 8, d TAXI &1
Dls T BRI

Options :

1. % 713862

2. 726318

3. % 786321

4. % 768312

Question Number : 8 Question Id : 103435816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B is the only daughter of Y. Z is the father of Y and X is the daughter of Y's son M. How is B related with X?
Options :

1. #* Sister

2. % Mother’s Sister

3. # Father's Brother’s Wife

4. ¥ Father’s sister

Question Number : 8 Question Id : 103435816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B,Y®ISHAI NI Z, Y BIUAIR SR X, Y F T M B T §1 B, X T H4 Taiferd g2
Options :

1. % dgd

2. % AT Bl §8

3. % fUdT o WIS & Ul

4. ¢ fUar &1 a4

Question Number : 9 Question Id : 103435817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



L, M, N, O, P, Q and R are the names of seven boys standing in a row in the school assembly. It is known that:

1. L is to the immediate right of M and third to the right of N.
2. P is standing at the end of the row.
3. O is standing adjacent to L and Q.

Who is standing at the second position of the row starting from N ?
Options :

1.¥R

2.%0

3.% L

4. % M

Question Number : 9 Question Id : 103435817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
L, M, N, O, P, Q 3R R f=erd 9T H Ue HdR § We ITd dsh! & A9 8 | I8 I1d § [

LLLMP 3B TUHT MR NP U I R
2. PHAR & 3 H WS |
3.0,L 3R Q&F T H TSI g

N ¥ Y& 811 a1d A & G VM R I TSI §7
Options :

.¥YR

2.% 0

3.% L

4. % M

Question Number : 10 Question Id : 103435818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, an assertion is given, followed by a reason. You have to decide whether the assertion is true, reason is true or both
are true and if the reason is the correct explanation of the assertion.



Assertion- Eating blueberries and fish foods help cure diabetes.
Reason- Right diet is a great method to cure diabetes.

Options :

1. ®¥ Assertion is true, reason is false

2. % Assertion is false, reason is true

3. % Both assertion and reason are true, reason is the correct explanation of the assertion.

4. ® Both assertion and reason are true, reason is not the correct explanation of the assertion

Question Number : 10 Question Id : 103435818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR feu T Uy A, U Sifiemym faar T 8, 39 §1C U HRUI AT T § | 3T I8 T BT & b o iy I §, PR I g AT
a1 9T g 3R Tfe BRI, fHHUT B el TR 8l

HTFHY- SIART 3R ABelT HIoH T & AYHE B 31 B | AGE Had! ¢
HRU- AYHE DI 3 B & fo7T g1 3MER g a1 g |

Options :

1. % JUHYT II §, HRUT 3T §

2. % JHfBYT 3TT B, PRUITT &

3. ¢ AUHYT 3R HRUI S T &, DRI HYT I el AT §

-~

4. % AYHYT 3R BRI G T §, HRUI HUT B! el RS Tal &

Question Number : 11 Question Id : 103435819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, a statement is given, followed by two arguments I and II. You have to consider the statement to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given arguments is strong.

Statement- Students having less than 50% aggregate of marks in the current year of study should be debarred from promotion to next year.

Argument I-It would take away the ultimate chance of improvement in students.
Argument II- This would make students serious towards the studies.

Options :



1. # Only argument I is strong

2. % Only argument II is strong

3. % Neither I nor II is strong

4. ¥ Both argument I and II are strong

Question Number : 11 Question Id : 103435819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR feu T Uy H, v HuA fear ma 8, e a1 g db 1 3R 11 fRT W § | 3T 39 HYUHl 1 I HFAT §, Hd 81 I8 JrH=ad: 1 9
T firt Ui 811 3maen! g ol @1 8 foh fau e 9 & 9 &9 W Aot B |

HYA- A IY B LI H 50% I HH 3 U B dIal SHE| &l 3T a8 § Ui 9§ dfrd foar S anfeu|

% 1-98 B U GUR B1 HfaH TH1EGH S B |
dd 11- I8 BT &l UgTs & Ufd THR a1 |
Options :

1. % Had do [ Holgd §

2. % $Had ad 11 G &

3. % FAN RS 1 Hoed &

4. ¢ I b 1 3R 11 Aoled &

Question Number : 12 Question Id : 103435820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
13:247::19:7?

Options :
1. % 265
2. % 360
3. ¥ 361
4, % 562



Question Number : 12 Question Id : 103435820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAHed BT 997 B S iR UG ¥ 341 UHR ¥ Yafdd g fo JR ¥ 3R UG Ugd Ug ¥ Hafed g
13:247::19:7?

Options :

1. % 265

2. % 360

3. ¥ 361

4. % 562

Question Number : 13 Question Id : 103435821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Write the number which completes this series:
6, 24, 60, 120, 210,

Options :
1. % 378
2. % 294
3. % 420
4.+ 336

Question Number : 13 Question Id : 103435821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ig TReT ford ot 39 SRael &1 IR el o
6, 24, 60, 120, 210, I

Options :

1. %= 378

2. % 294

3. % 420

4.9 336



Question Number : 14 Question Id : 103435822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The diagram in the question represents the students who study Biology, Geography and History. Study the diagram and identify the region which
represents the students who study Biology and History but not Geography?

Options :

1.¥T

2. % P+T+S+R+U+V
3.%V

4. % P+T+S

Question Number : 14 Question Id : 103435822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ty o 3R Siid fa5H, YTd SR SfIgT &1 T B dTdl B &1 WA Sal ¢ | 3R B 3T Hx 3R 39 &F P UgaH P
S 39 BT &1 ufafAfia Har § S Siid 3w $iR Sfaer &1 sieras #d § afes 4Fiid &1 T8l a2




Options :

1.¥T

2. % P+T+S+R+U+V
3.%V

4. ® P+T+S

Question Number : 15 Question Id : 103435823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

J is walking towards West and turns 360 degrees. Find the direction in which J would be walking now.
Options :

1. # East

2. ¥ West

3. % North

4. # South

Question Number : 15 Question Id : 103435823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

J U o1 SR Td 6T 8 3R 360 FSHh gear g1 98 fa=m I1d & /e 1 3@ 9 g1 81|

Options :

1. % g4

2. Ui



3. % JW
4. % gferor

Question Number : 16 Question Id : 103435824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man started walking from his house and moved 8m to north and then turned to east and walked another 15m. How far he is from his starting
point?

Options :

1. % 8m

2. % 15m

3.% 17m

4. % 23m

Question Number : 16 Question Id : 103435824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W;ﬁmﬁdﬂﬂlﬂb 1 § 3R 8m IR B! 3R IAdT ¢ 3R fhR gd Pt 3R ST § 3R 15m T g | I8 AU RIS foig
R

Options :

1. % 8m

2. % 15m

3.9 17m

4. % 23m

Question Number : 17 Question Id : 103435825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure would complete the question figure?



Options :

1. ®

4.9



Question Number : 17 Question Id : 103435825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI I IR P UY P DI IR B

Options :



Question Number : 18 Question Id : 103435826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The circle and square can occupy 6 places. Starting from the image given the question find the option image such that the circle has moved four
places and the square has moved 5 places.

Options :



Question Number : 18 Question Id : 103435826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

gﬁnﬁeﬁva;éwmuswwwﬁﬁl uy o <1 TS Bfa I URY FRd g [ahed 3 39 e I B3 b I IR RIM SF §gT 7 3R I 5 RIF
del gl

Options :



Question Number : 19 Question Id : 103435827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following correctly represents the exact Mirror image of this question figure?

Options :



3.¢

Question Number : 19 Question Id : 103435827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiyd o 9 & T 39 0% TP 3 Gl qUU Bid BT Tl U1 Bl 62

Options :



1. ®

3. ¢



Question Number : 20 Question Id : 103435828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Write the maximum number of rectangles in the following figure.

Options :
1. %7
2.%9
3.% 6
4. % 8

Question Number : 20 Question Id : 103435828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad snefd & sl & siftidman e ford |



Options :

1. %7
2.%9
3.% 6
4.9 8
General Awareness
Group Number : 2
Group Id : 10343542
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Awareness
Section Id : 10343542
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 10343550
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 103435829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a type of music?
Options :

1. ¥ Tappa

2. % Onam

3. * Hemis

4. % Pongal

Question Number : 21 Question Id : 103435829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed @ 3 oF 91 @iid &1 UaR 82
Options :

1. cWl

2. % 3

3. % gff g

4. % GiTe

Question Number : 22 Question Id : 103435830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Between the period of ninth and eleventh centuries in Bengal (including Bangladesh) and Bihar, the sculptures style is known as .
Options :



1. # clay firing

2. # satavahana art
3. % yakshi

4. ¥ pala

Question Number : 22 Question Id : 103435830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I (ST Tfgd) 3R fogR & e 3R TRed! 2dlsc! &t ofafy & o9, gidear Aet &l FE YA TATS@I |
Options :

1. % o BN

2. % Fradigd oal

3. % geft

4. ¢ UIdl

Question Number : 23 Question Id : 103435831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a company reports a , it means that its economic profit is equal to zero, which is the minimum amount that justifies why the
business is still in operation.

Options :

1. ¥ normal profit

2. % super-normal profit
3. # shut down point

4. ¥ break even point

Question Number : 23 Question Id : 103435831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Plg B! o1 YU ol ], 1 59T o B fb ST sftfes ATy Y o R1eR |, Sl fb =g7ay fr g o g8 9Tt & foh
aar sift o 7t T TET B |
Options :



1. ¢ FHE AT

2. % JUR-YHH &Y

3. % Hdq) fig

4. % Y - 3y fRUfT (s g9 Uige)

Question Number : 24 Question Id : 103435832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Most distinguishing characteristic of perfect competition is
Options :

1. # Partial Bargaining

2. # Equal opportunity

3. ¥ Price taking Behaviour

4. ¥ Price does not matter

Question Number : 24 Question Id : 103435832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ut gfeafiar &1 e o fadwar . B
Options :

1. % 3fif¥re ATl

2. & JH AW

3. ¢ T o dTell TagR

4. % g A1 g X9dl

Question Number : 25 Question Id : 103435833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The poorest conductor of heat:

Options :

1. ¥ Lead



2. * Tron
3. # Calcium

4. # Graphite

Question Number : 25 Question Id : 103435833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S T G TRIS WG

Options :

1.« i

2. % gl

3. % gy

4. % Y1

Question Number : 26 Question Id : 103435834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A lustrous Non-Metal is:

Options :

1. % Argon

2. # Chlorine

3. % Xenon

4. ¥ Jodine

Question Number : 26 Question Id : 103435834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP THHGR AU ©:
Options :

1. % 3N

2. % FARM



3. % A
4. ¢ 3TASH

Question Number : 27 Question Id : 103435835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The second trophic level in food chain is occupied by
Options :

1. # omnivores

2. ¥ herbivores

3. % carnivores

4. ¥ parasitic

Question Number : 27 Question Id : 103435835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T YT AR AN TR R HRIa B
Options :

1. % gafgr™t

2. ¢ QHHER

3. % HBRY

4. % GRofd!

Question Number : 28 Question Id : 103435836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The one of the highest peaks of the western ghats at a (2,695metres) elevation above sea level is

Options :
1. % Dhaulagiri
2. % Kamet

3. % Annapurna



4. % Anai Mudi

Question Number : 28 Question Id : 103435836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS dd ¥ (2,695 Hiex) $HdTs IR Uiy °e & 9o $d! aifedl § 9 Th gl
Options :

1. % ey

2. % BT

3. % 3EqUI

4. ¢ 3FZHS!

Question Number : 29 Question Id : 103435837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Planetary wind is also known as

Options :

1. % Seasonal Wind

2. % Primary wind

3. ¥ Monsoon Wind

4. % Pressure wind

Question Number : 29 Question Id : 103435837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e uad®dl  deud i SHI @ gl
Options :

1. % g uad

2. ¢ UIYfl® gaq

3. % YA UaH

4. #® qld gad




Question Number : 30 Question Id : 103435838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many times Mahmud of Ghazni invaded India?
Options :

1. ¥ 17 times

2. % 15 times

3. % 19 times

4. % 13 times

Question Number : 30 Question Id : 103435838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEHE ot A fhdHl 9R YR W THHU fHam
Options :

1.¥ 17dR

2. % 15dR

3. % 199R

4. % 13dR

Question Number : 31 Question Id : 103435839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the first Sultan of Delhi sultanate?
Options :

1. # Muhammad Ghori

2. % Qutb al-Din Aibak

3. ¥ Mahmud Ghaznavi

4. ® Babur

Question Number : 31 Question Id : 103435839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fraforfed # I o1 e Tedad &1 ugdr e o1
Options :

1. % HIgHG TR

2. ¢ $gd 3d-aH Udd

3. % HgHG oidl

4. ® dleR

Question Number : 32 Question Id : 103435840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the Labour Minister of India in the first cabinet after Independence ?
Options :

1. # Mohan Lal Saxena

2. # John Mathai

3. % Jagjivan Ram

4. ¥ Amrit Kaur

Question Number : 32 Question Id : 103435840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WA & S1G Ugall bioe H HRA & 41 HAl i A2
Options :

1. % HigTared YR

2. % S TUR

3. ¢ SITSilaH I

4. % A BR

Question Number : 33 Question Id : 103435841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
When was the Hunter Commission appointed?
Options :

1. ¥ 1882

2. % 1857

3. % 1942

4. % 1946

Question Number : 33 Question Id : 103435841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BUCR TN B Fgfad g3 ot 2
Options :

1. ¥ 1882

2. % 1857

3. % 1942

4. % 1946

Question Number : 34 Question Id : 103435842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a 'Literary Award' ?
Options :

1. # The Rabindra Puraskar

2. % The Dronacharya Award

3. # The Vyas Samman

4. % The Hindu Literary Prize

Question Number : 34 Question Id : 103435842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifed 3 @ o a1 afife RER T8 82



Options :
1. % Idg REBR
2. ¢ QU REDHR

3. % g gHA

4. % fgg Uifgcd RIHR

Question Number : 35 Question Id : 103435843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Indian Economist received the Humboldt Research Award 20217
Options :

1. # Amartya Sen

2. % Arvind Subramanian

3. % Kaushik Basu

4. ¥ Raghuram Rajan

Question Number : 35 Question Id : 103435843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fory URTTT U=l 1 ghalee NEd QRIPR 2021 i@
Options :

1. % 3

2. % 3Rfdq YsHUTA

3. ¢ DIRG T

4. % IYTHISH

Question Number : 36 Question Id : 103435844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many Lok Sabha Seats were there in the first general election in India?
Options :



1. ¥ 489
2. % 540
3. % 543
4. %= 500

Question Number : 36 Question Id : 103435844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA T Ugd 3T 19 § AlpayT o1 fba-t dic i
Options :

1. ¥ 489

2. % 540

3. % 543

4. * 500

Question Number : 37 Question Id : 103435845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The total numbers of members in the Constituent Assembly after partition of India in 1947 was
Options :

1. * 300

2.9 299

3. % 250

4. % 489

Question Number : 37 Question Id : 103435845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1947 H YRd & fAUSH & a1¢ IfauH Ui d gei sl pa e ot
Options :

1. #* 300

2.9 299



3. % 250
4. % 489

Question Number : 38 Question Id : 103435846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Viswanathan Anand is related to which sport or game?
Options :

1. # Table tennis

2. % Hockey

3. % Chess

4. % Cricket

Question Number : 38 Question Id : 103435846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fasT 3G ford T & Hefed 82
Options :

1. % ¢9d g

2. % gl

3. ¢ YRS

4. % fopre

Question Number : 39 Question Id : 103435847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Copa America is a championship tournament related to which sport?
Options :

1. # Polo

2. % Badminton

3. ¥ Volleyball



4. % Football

Question Number : 39 Question Id : 103435847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST AR v Wa ¥ Fafda HfUg=Rkm gAme 82
Options :

1. % Ol

2. % g3fiea

3. % groiiaid

4. ¢ Ppedld

Question Number : 40 Question Id : 103435848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won the Wimbledon Tennis men's singles title 2021?
Options :

1. # Roger Federer

2. ¥ Novak Djokovic

3. % Pete Sampras

4. % Rafael Nadal

Question Number : 40 Question Id : 103435848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefRad 4 9 forem fdeae ¢ g3 Tavd 2021 &1 RydTe Sitar
Options :

1. % IR BSR

2. ¢ FId1% Siebifdd

3. % Uic 9wy

4, % IHIUA ST
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Group Number : 3

Group Id : 10343543
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No
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Group Marks : 20
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Arithmetic Ability

Section Id : 10343543
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Number of Questions : 20
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 103435849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sum of two numbers is 14 and their product is 45. What is the sum of the reciprocals of the numbers?
Options :



1. * 45/12
2. ¥ 14/45
3. % 13/24
4. = 25/17

Question Number : 41 Question Id : 103435849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l 1S BT TNT 14 B 3R IHT UHG 45 8 | TAT3N & bW BT AT 1 52
Options :

1. * 45/12

2.9 14/45

3. % 13/24

4. % 25/17

Question Number : 42 Question Id : 103435850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A number when divided by 8 leaves a remainder 5. When square of the number is divided by 8, the remainder is
Options :

1. %3

2.% 4

3.% 2

4.9 1

Question Number : 42 Question Id : 103435850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS =1 B! 57d 8 F TAHIId fopar Sar 8 a5 Auhd Sisdr g | 519 T & aFf &1 8 ¥ fyuiford fovar sian 8, a Quwd gl
Options :

1. %3

2.% 4



3.%2
4.9 1

Question Number : 43 Question Id : 103435851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of even natural numbers up to 500 is
Options :

1. # 250

2.9 251

3. % 249

4. % 252

Question Number : 43 Question Id : 103435851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

500 TP B YA WA AT BT 3yd gl
Options :

1. % 250

2.9 251

3. % 249

4. % 252

Question Number : 44 Question Id : 103435852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A batsman make a score of 60 runs in his 12th innings and there by increasing his average by 2 runs. Find his average runs after his 12th innings?
Options :

1. #® 40

2.9 38

3. % 56



4. % 48

Question Number : 44 Question Id : 103435852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T geararet 30T 12 It § 60 T 1 WhR ST § SR ITb HRUT YA 3d & 2 A $1 gfg Hal o | 3TqD! 12 U} & a1 39D
SIRIA 3 A B2

Options :

1. % 40

2. ¥ 38

3. % 56

4. % 48

Question Number : 45 Question Id : 103435853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The weight of a girl was 40 kg. But it was misread as 44 kg. Find the error percentage?
Options :

1. % 10.5%

2. % 10.25%

3. % 12.5%

4. % 10%

Question Number : 45 Question Id : 103435853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ASDH! BT UR 40 kg UTI b1 3 TTeTll F 44 kg T 71 Ffe fcr=rd 1d H2
Options :

1. * 10.5%

2. % 10.25%

3. % 12.5%

4. ¥ 10%




Question Number : 46 Question Id : 103435854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The population of a town increases 10% annually. If its present population is 50,00,000. Find its population after 2 years?
Options :

1. ¥ 6050000

2. % 6500000

3. % 6150000

4. % 6000000

Question Number : 46 Question Id : 103435854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TR B! S8 & aIfiies 10% &1 g 8l 31 afe SHH! T SHRRSAT 50,00,000 B1 2 TS S1E ST ST J1d B2
Options :

1. ¥ 6050000

2. % 6500000

3. % 6150000

4. * 6000000

Question Number : 47 Question Id : 103435855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Raju bought a washing machine for Rs. 10000 and sold it for Rs. 6000. Find the loss percentage.
Options :

1. * 25%

2. ¥ 40%

3. % 45%

4. % 47.5%

Question Number : 47 Question Id : 103435855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS 10000 FUY H TH YaTs TR WRiet 3R 6000 TUT H s faan| g1+ ufawrd I & |
Options :

1. ® 25%

2. % 40%

3. % 45%

4. % 47.5%

Question Number : 48 Question Id : 103435856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If goods be purchased for Rs.960 and one-fourth be sold at a loss of 20%, at what gain percent should be the remainder be sold so as to gain 20%
on the whole transaction?

Options :
1. % 35%
2. % 33.33%
3. % 3533%
4. % 32.12%

Question Number : 48 Question Id : 103435856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e g 960 $UT T WRIGT STl § SR Tb-AUTS 20% PI T IR o191 AT 8, 1 Y B fha= U= Ay R 931 o1 9Tie ¢ alids IR a-aH
TR 20% BT TH HSfd g2

Options :

1. = 35%

2. % 33.33%

3. % 3533%

4. % 32.12%

Question Number : 49 Question Id : 103435857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IfA:B=5:9andB:C=3:7thenA:B:Cis
Options :

1. * 5:27:21

2. % 15:3.7

3.9 5:9:21

4. % 15:19:7

Question Number : 49 Question Id : 103435857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
q%A:BZS:9GﬁTB:C=3:7T‘ﬁA:B:C %I
Options :

1. #= 5:27:21

2. % 15:3:7

3.9 5:9:21

4. % 15:19:7

Question Number : 50 Question Id : 103435858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two numbers are in the ratio 5 : 3. If 12 is subtracted from each number, then they are in the ratio of 2 : 1. Then the smaller number is

Options :
1. * 60
2. % 12
3. % 28
4. 36

Question Number : 50 Question Id : 103435858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

AT 5:3F IO A B A IS TN A 12 FeT [T e, A2 1 & A A § | df It Te gl
Options :

1. ® 60

2. % 12

3. % 28

4.9 36

Question Number : 51 Question Id : 103435859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At what rate will Rs. 8000 amount to Rs.12000 in 4 years at simple interest?
Options :

1. % 12%

2. % 15.5%

3.9 12.5%

4. % 13%

Question Number : 51 Question Id : 103435859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o R TR, ATYRUT TS TR 4 T8 T 8000 FUY 1 AT 12000 FUY o SRTER BT ST
Options :

1. #® 12%

2. % 15.5%

3.9 12.5%

4. % 13%

Question Number : 52 Question Id : 103435860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The difference between simple interest and compound interest in a sum of money at 5% p.a for 3 years is Rs.915. The sum is Rs




Options :

1. * 80,000
2. % 1,50,000
3.9 1,20,000
4. % 1,25,000

Question Number : 52 Question Id : 103435860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foralt PRI IR Tifaay 59 1 aR ¥ 3 T o oY ATYRUT ST 3R Tehd g ST b §1d BT 3R 915 ¥UT g | 4RI gl
Options :

1. * 80,000

2. % 1,50,000

3.9 1,20,000

4. % 1,25,000

Question Number : 53 Question Id : 103435861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man who covers one-third of his journey at a speed of 30 km/hr and the next one third at 60 km/hr and the last part at 10 km/hr. What is the
average speed of his journey (in km/hr)?

Options :
1. ¥ 20
2. % 24
3. % 30
4. % 28

Question Number : 53 Question Id : 103435861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Afad oIl SO I BT T TS 30 km/hr BT T I 3R SATAT Tab fA8TS 60 km/hr BT T & 3R SHfTH UTT 10 k/hr &1 7T 00 Hrall
81 TSB! IET B 3T T (kn/hr H) T 82



Options :
1. ¥ 20
2. % 24
3. % 30
4. % 28

Question Number : 54 Question Id : 103435862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two trains running in the same direction at 30 kmph and 12 kmph completely pass one another in 1 minute. If the length of the first train is 125
metres, the length of second train is m.

Options :
1. * 185
2. % 149
3.9 175
4. % 160

Question Number : 54 Question Id : 103435862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T &) f=T & 30 kmph 3R 12 kmph @1 71 J e aTeit & Yermisar 1 e  Uh gk & Grguid: UR BT & | af ugal YerTst &1 darg
125 Hiex B, 1 gO- YA Bl darg mgl

Options :

1. % 185

2. % 149

3.9 175

4. % 160

Question Number : 55 Question Id : 103435863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Raj completed the school project in 10 days. How many days will Arun take to complete the same work if he is 25% more efficient than Raj?



Options :
1.8
2. % 12
3. % 16
4. % 6

Question Number : 55 Question Id : 103435863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1ot A faemera o1 ioiae 10 f&1 & 91 fohan | sre0r I3t 1 &1 O avl & T 3= v, afe 9@ 1ot 9 25% 31 HRid 82
Options :

1.¥38

2.% 12

3. % 16

4. % 6

Question Number : 56 Question Id : 103435864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B can do a bit of work in 15 days. B and C can do it in 12 days while C and A can do it in 20 days. How long will they complete it
working together? Additionally, how long can C alone do it?

Options :

1. ¥ 10 days, 30 days
2. % 15 days, 20 days
3. % 20 days, 40 days
4. * 10 days, 50 days

Question Number : 56 Question Id : 103435864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ARB PRI D 15 R TR IFAEI B 3R € 3 12 i § R T 8 Tafh € 3R A 39 20 o H H Thd &1 3 U 1Y B
FRd BU S e dP T SN SqP HfdRad, C 3fahed fha- THT T I8 B AHhl 62




Options :

1. ¢ 10feA, 30 faa
2. % 15fad, 20 fad
3. % 20 fad, 40 fgA
4. % 10feq, sofea

Question Number : 57 Question Id : 103435865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A right triangle with sides 6 cm, 8 cm and 10 cm is rotated the side of 6 cm to form a cone. The volume of the cone so formed is cubic
cm.

Options :
1. ¥ 96n
2. % 96

3. % 96/n
4. % 967°

Question Number : 57 Question Id : 103435865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
6 cm, 8 cm 3R 10 cm YIS & FHABI FYS P P T & [T 6 cm BT YT B GHIT ST 8 | 3 YHR I P BT T

cubic cm %I

Options :
1. ¥ 96n
2. % 96

3. % 96/n
4. % 967°

Question Number : 58 Question Id : 103435866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of students learning different instruments.



What is the approximate percentage of the number of students learning Guitar to that of the total number of students who are learning all

instruments?

Brands/
Instruments

Guitar

Sitar

Piano

Yamaha

230

Casio

450

650

700

Options :
1. = 31%
2. % 34%
3. % 36%
4. % 39%

Question Number : 58 Question Id : 103435866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

1 & 178 difcresT fafis TR ol AR aTel BT 1 T3 I SRMal g

TR WRaq a1d S & e, Tyt I & YR aTd S & $ot S-HT BT THTH b1 U= 82

AE / FUHIU

fir®

E:GIES

frart

qTHTET

230

Eatpn

450

650

700

Options :
1. * 31%
2. ¥ 34%
3. % 36%
4. % 39%

Question Number : 59 Question Id : 103435867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option




Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The line graph given below shows per hectare yield (in tons) of wheat in five different cities.
Total yield of Kanpur and Lucknow is what percent of Delhi?
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Kanpur Lucknow Chennai Kolkata Delhi
Cities
Options :
1. ¥ 150%
2. % 135%
3. % 120%
4. % 110%

Question Number : 59 Question Id : 103435867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T feam mma e U Ui fafie wekl § g & ufd /9eR SuS (e W) @ g 8|
HHYR 3R TGS, B Hd UG (Gl BT a1 U= 82
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Options :

1. ¥ 150%
2. % 135%
3. % 120%
4. % 110%

Question Number : 60 Question Id : 103435868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The line graph shows the marks obtained by all five students in three subjects English, Hindi and Marathi. Maximum marks obtained in each
subject is 100.



Find the difference between the percentage marks obtained by B and E for English, Hindi and Marathi.

—s—English -—+=—Hindi —=—Marathi

50

= |

r o

Marks obtained

A B C D E
Students

Options :
1. ¥ 13%
2. % 21%
3. % 10%
4. % 18%

Question Number : 60 Question Id : 103435868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¥ 13%
2. % 21%
3. % 10%
4. % 18%
General English

Group Number : 4
Group Id : 10343544
Group Maximum Duration : 0
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Group Marks : 20
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Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
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Sub-Section Id : 10343552
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 103435869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The animals were/ conditioned to respond/ to an auditory stimuli.

Options :

1. #* The animals were

2. #* conditioned to respond

3. % to an auditory stimuli.

4. * No Error

Question Number : 61 Question Id : 103435869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The animals were/ conditioned to respond/ to an auditory stimuli.

Options :



1. # The animals were

2. # conditioned to respond
3. ¥ to an auditory stimuli.
4. ® No Error

Question Number : 62 Question Id : 103435870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The shield is named after New Zealand's Sir/ Edmund Hillary, the first man to scale the Mount Everest,/ who died in Auckland on January 11
2008.

Options :

1. # The shield is named after New Zealand's Sir

2. ¥ Edmund Hillary, the first man to scale the Mount Everest,
3. # who died in Auckland on January 11, 2008.

4. % No Error

Question Number : 62 Question Id : 103435870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The shield is named after New Zealand's Sir/ Edmund Hillary, the first man to scale the Mount Everest,/ who died in Auckland on January 11
2008.

Options :

1. ® The shield is named after New Zealand's Sir

2. ¥ Edmund Hillary, the first man to scale the Mount Everest,
3. #® who died in Auckland on January 11, 2008.

4. ® No Error



Question Number : 63 Question Id : 103435871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.
The company has come (under intense scrutiny because of it's environmental) record.

Options :

1. # across intense scrutiny for it's environmental

2. # through intense scrutiny because of its environmental
3. % under intense scrutiny because of its environmental

4. ® No correction required

Question Number : 63 Question Id : 103435871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.
The company has come (under intense scrutiny because of it's environmental) record.

Options :

1. # across intense scrutiny for it's environmental

2. % through intense scrutiny because of its environmental
3. % under intense scrutiny because of its environmental

4. ® No correction required

Question Number : 64 Question Id : 103435872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.
Histopathologic examinations (of the tissue shows a necrobiotic granuloma with) associated histiocytic infiltration.

Options :
1. ¥ of the tissues show a necrobiotic granuloma with

2. # of the tissues shows a necrobiotic granuloma from



3. % of the tissue shows necrobiotic granuloma by

4. # No correction required

Question Number : 64 Question Id : 103435872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.
Histopathologic examinations (of the tissue shows a necrobiotic granuloma with) associated histiocytic infiltration.

Options :

1. ¥ of the tissues show a necrobiotic granuloma with
2. % of the tissues shows a necrobiotic granuloma from
3. # of the tissue shows necrobiotic granuloma by

4. % No correction required

Question Number : 65 Question Id : 103435873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice:

It was a breathtakingly solution to an intractable problem, and the results were to be breath-taking as well.
Options :

1. % conscious

2. # malicious

3. #* tenacious

4. ¥ audacious

Question Number : 65 Question Id : 103435873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice:

It was a breathtakingly solution to an intractable problem, and the results were to be breath-taking as well.



Options :

1. #® conscious
2. % malicious
3. # tenacious

4. % audacious

Question Number : 66 Question Id : 103435874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the most appropriate choice:
I like the idea of dark banking transactions taking place in towns like Miltown Malbay, awash with transnational

Options :

1. # cockatrice
2. ¥ avarice

3. % aver

4. % ascetic

Question Number : 66 Question Id : 103435874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the most appropriate choice:
I like the idea of dark banking transactions taking place in towns like Miltown Malbay, awash with transnational

Options :

1. # cockatrice
2. ¥ avarice

3. % aver

4. % ascetic

Question Number : 67 Question Id : 103435875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.



We were both broke

P. and working pub

Q. could abate my

R. appetite for conceiving
S. shifts but nothing

low budget film ideas.
Options :

1. # RPSQ

2. % RQSP

3. ¥ PSQR

4. ¥ PRSQ

Question Number : 67 Question Id : 103435875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

We were both broke

P. and working pub

Q. could abate my

R. appetite for conceiving
S. shifts but nothing

low budget film ideas.
Options :

1. % RPSQ

2. % RQSP

3. ¥ PSQR

4. % PRSQ

Question Number : 68 Question Id : 103435876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

The first emperor of the Mughal Empire was Babur, a direct descendant of Genghis Khan.

P. Following Genghis, in 1531 came Babur; he was responsible for establishing and improving trade relations with Persia and Europe.
Q. Babur even outlawed killing cows as a sign of respect for Hindus.

R. He was responsible for moving the empire into India.

S. Here, he ruled with religious tolerance from 1526 to 1530.

He is directly responsible for spreading Persian cultural influence throughout the empire.
Options :

1. # RPSQ

2. % RQSP

3. % RPQS

4. ¥ RSQP

Question Number : 68 Question Id : 103435876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

The first emperor of the Mughal Empire was Babur, a direct descendant of Genghis Khan.

P. Following Genghis, in 1531 came Babur; he was responsible for establishing and improving trade relations with Persia and Europe.
Q. Babur even outlawed killing cows as a sign of respect for Hindus.

R. He was responsible for moving the empire into India.

S. Here, he ruled with religious tolerance from 1526 to 1530.

He is directly responsible for spreading Persian cultural influence throughout the empire.
Options :

1. % RPSQ

2. % RQSP



3. ® RPQS
4. ¥ RSQP

Question Number : 69 Question Id : 103435877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word that is opposite in meaning (ANTONYM) to the word given below.
untenable

Options :

1. # unsound
2. % mundane
3. ¥ logical
4. # disparity

Question Number : 69 Question Id : 103435877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word that is opposite in meaning (ANTONYM) to the word given below
untenable

Options :

1. # unsound
2. % mundane
3. ¥ logical
4. # disparity

Question Number : 70 Question Id : 103435878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word that is similar in meaning (SYNONYM) to the word given below.
tortuous

Options :
1. % circuitous

2. * untwisted



3. # amusing

4. ® repudiate

Question Number : 70 Question Id : 103435878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word that is similar in meaning (SYNONYM) to the word given below
tortuous

Options :

1. % circuitous
2. # untwisted
3. # amusing

4. ® repudiate

Question Number : 71 Question Id : 103435879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ plethora

2. % plethra

3. # pleothora

4. % plathora

Question Number : 71 Question Id : 103435879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ plethora

2. # plethra

3. # pleothora



4. % plathora

Question Number : 72 Question Id : 103435880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :

1. # sanction

2. ¥ saitate

3. # propriety

4. % galubrious

Question Number : 72 Question Id : 103435880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only three words are spelt correctly. Choose the one spelt incorrectly.
Options :

1. # sanction

2. ¥ gaitate

3. % propriety

4. % salubrious

Question Number : 73 Question Id : 103435881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate meaning of the given idiom.
A penny saved is a penny earned

Options :

1. % Not under firm control, mismanaged

2. # To be easily successful

3. % By not spending money, you are saving money

4. % Overwhelmed by what is happening in the moment



Question Number : 73 Question Id : 103435881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate meaning of the given idiom.
A penny saved is a penny earned

Options :

1. #® Not under firm control, mismanaged

2. % To be easily successful

3. ¥ By not spending money, you are saving money

4. % Overwhelmed by what is happening in the moment

Question Number : 74 Question Id : 103435882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate meaning of the given idiom.
A wolf in sheep’s clothing

Options :

1. ¥ When you already have it good and get something on top of what you already have
2. % To have something secured

3. ¥ A dangerous person pretending harmless

4. ® A secret policy for an evil purpose

Question Number : 74 Question Id : 103435882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate meaning of the given idiom.
A wolf in sheep’s clothing

Options :

1. ¥ When you already have it good and get something on top of what you already have
2. % To have something secured

3. ¥ A dangerous person pretending harmless

4. ® A secret policy for an evil purpose



Question Number : 75 Question Id : 103435883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

A large gathering of people of a particular type.
Options :

1. * Bonsai

2. ¥ Bevy

3. * Bounty

4. % Brood

Question Number : 75 Question Id : 103435883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

A large gathering of people of a particular type.

Options :

1. # Bonsai

2. ¥ Bevy

3. % Bounty

4. % Brood

Sub-Section Number : 2
Sub-Section Id : 10343553
Question Shuffling Allowed : Yes

Question Id : 103435884 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives



Naval architects never claim that a ship is unsinkable, but the sinking of the passenger-and-car ferry Estonia in the Baltic surely should have
never have happened. It was well designed and carefully maintained. It carried the proper number of lifeboats. It had been thoroughly inspected
the day of its fatal voyage. Yet hours later, the Estonia rolled over and sank in a cold, stormy night. It went down so quickly that most of those on
board, caught in their dark, flooding cabins, had no chance to save themselves: Of those who managed to scramble overboard, only 139 survived.
The rest died of hypothermia before the rescuers could pluck them from the cold sea. The final death toll amounted to 912 souls. However, there
were an unpleasant number of questions about why the Estonia sank and why so many survivors were men in the prime of life, while most of the
dead were women, children and the elderly.

Sub questions

Question Number : 76 Question Id : 103435885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which sea did Estonia sink?

Options :

1. # Caribbean

2. % Arabian

3. ¥ Baltic

4. % Caspian

Question Number : 77 Question Id : 103435886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the line "The final death toll amounted to 912 souls" tell us?
Options :

1. ¥ The number of people who died on the ship.

2. % The number of people who were onboard.

3. % The number of people who survived.

4. % The number of lifeboats of the ship.

Question Number : 78 Question Id : 103435887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What kind of sea vessel was Estonia?



Options :

1. #® Container ship

2. ¥ Passenger and car ferry
3. # Bulk carriage

4. ® Naval ship

Question Number : 79 Question Id : 103435888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, we can't find an answer for which of the following questions? Choose one of the following.
Options :

1. ¥ Where had Estonia sunk.

2. % The total number of people onboard.

3. ¥ The reason behind the sinking of Estonia.

4. ® The cause of the deaths of the fatal voyage.

Question Number : 80 Question Id : 103435889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. #® There were a high number of male adult survivors in the Estonia sinking.

2. ¥ Estonia sunk on a cold stormy night on its maiden voyage.

3. ® Before its fatal voyage Estonia was properly inspected.

4. ® There were over a thousand souls onboard when the fatal voyage took place.

Question Id : 103435884 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives

Naval architects never claim that a ship is unsinkable, but the sinking of the passenger-and-car ferry Estonia in the Baltic surely should have



never have happened. It was well designed and carefully maintained. It carried the proper number of lifeboats. It had been thoroughly inspected
the day of its fatal voyage. Yet hours later, the Estonia rolled over and sank in a cold, stormy night. It went down so quickly that most of those on
board, caught in their dark, flooding cabins, had no chance to save themselves: Of those who managed to scramble overboard, only 139 survived.
The rest died of hypothermia before the rescuers could pluck them from the cold sea. The final death toll amounted to 912 souls. However, there
were an unpleasant number of questions about why the Estonia sank and why so many survivors were men in the prime of life, while most of the
dead were women, children and the elderly.

Sub questions

Question Number : 76 Question Id : 103435885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which sea did Estonia sink?

Options :

1. # Caribbean

2. # Arabian

3. % Baltic

4. # Caspian

Question Number : 77 Question Id : 103435886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the line "The final death toll amounted to 912 souls" tell us?
Options :

1. ¥ The number of people who died on the ship.

2. # The number of people who were onboard.

3. % The number of people who survived.

4. ¥ The number of lifeboats of the ship.

Question Number : 78 Question Id : 103435887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What kind of sea vessel was Estonia?
Options :

1. % Container ship



2. ¥ Passenger and car ferry
3. % Bulk carriage
4. ® Naval ship

Question Number : 79 Question Id : 103435888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, we can't find an answer for which of the following questions? Choose one of the following.

Options :

1. ¥ Where had Estonia sunk.

2. # The total number of people onboard.

3. ¥ The reason behind the sinking of Estonia.
4. ® The cause of the deaths of the fatal voyage.

Question Number : 80 Question Id : 103435889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.
Options :

1. # There were a high number of male adult survivors in the Estonia sinking.

2. ¥ Estonia sunk on a cold stormy night on its maiden voyage.

3. % Before its fatal voyage Estonia was properly inspected.

4. ® There were over a thousand souls onboard when the fatal voyage took place.
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Question Number : 81 Question Id : 103435890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy & R fawedl & 3 39 fdded &1 99 o S fau 71U 9 - fowe 2Isg o Ue! Wi &1 fdwed © |
BT + ST

Options :

1. % HRAY

2. ¢ DA

3. % RYelY

4, % DhRcIY

Question Number : 81 Question Id : 103435890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFaffad Uy & aR foswed! & I 39 fdwed &1 99+ &1 ol fau 78 IfY - fowse 2rsg & Wl I F1 fadweu g |
BT + 3T

Options :

1. % By

2. ¢ B

3. % HRAY

4. % HRAY

Question Number : 82 Question Id : 103435891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy & IR fowddl 7 @ 39 fasey &1 9a 3 o T 7T I wreg & Il IfY - foca e 3 |
SRS

Options :

1. % Sd + &1

2. % Gd + 3T

3. % O+ 3{H T

4. % ST + AW

Question Number : 82 Question Id : 103435891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy IR ol 7 9 39 fasey &1 9a &3 off T 17U IfY Wreg & el IfY - foea e g |
ST

Options :

1. % S + &1

2. % Sd + AT

3. % O + 3T

4. % S + I

Question Number : 83 Question Id : 103435892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Pofifed g ¥ 9R el § 9 39 Aded o1 997 &3 o 133 71U et &1 ) doiH Uk ¢ |
E

Options :
1. % A9
2. % dUl
3. % &R
4, % 3¥

Question Number : 83 Question Id : 103435892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad uy & TR el 7 T 39 fadey &1 T oY ot fod 7Y Weg 7 Te dTH Wea 1 |
D

Options :
1. % g
2.9 AdUl
3. % &R
4, % ¥

Question Number : 84 Question Id : 103435893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad uy & TR Ao # ¥ 39 fadey &1 o &3 of fieeh g 7T ] |
Options :

1. % DI

2. % IR

3. % dHA

4. % pUq




Question Number : 84 Question Id : 103435893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafed vy B R e & 9 39 fawed &1 997 o) ot faesh wreg Te 7 |
Options :

1. ¢ DTS

2. % IR

3. % HHA

4. % HUT

Question Number : 85 Question Id : 103435894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffed vy § =R el § 4 39 fahed & 98- &3 S Weg T & Tl 31 o1 fabeu 3 |
Frafey -Fafa

Options :

1. % dg, golH

2. ¢ Qe qfqa/=ifa

3. % il ool

4, % Qe sl

Question Number : 85 Question Id : 103435894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffaa Uy & aR fowedl & T 39 fdewed &1 999 &3 ol Usg T & e Y &1 fddhed g |
Frafer -fgfa

Options :

1. # dig, gullH

2. ¢ Qe gfda/=nfa

3. % Tl ool

4. % e, ol




Question Number : 86 Question Id : 103435895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy & ,aR fowddl 7 9 39 fadey &1 9a &3 o1 AT 7T aremier & fofe U Tieg &1 98! fdweu 3 |
EERUISECIBG

Options :

1. % fagxi

3. ¢ IARIB

4. % JTERY

Question Number : 86 Question Id : 103435895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafea oy o IR faswed! & 9 39 fdeed &1 99+ &< off faT TN ari=T & e Ue RTeg &1 gl [dbed § |
%% P! Heifd

Options :

1. % faczh

2. % IV

3. ¥ IRB

4, % TR

Question Number : 87 Question Id : 103435896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed vy & TR fawel § 9 39 fawey &1 T B Sl Y Ve &1 fdhed g |
Options :

1. % fouR

2. ¢ SITRI00

3. % gHIID




4. % TR

Question Number : 87 Question Id : 103435896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad g & TR fawel § 9 39 fawey &1 T B Sl Y Ve &1 fdhed g |
Options :

1. % fouR

2. ¢ SITRI00

3. % gHIID

4. % TR0

Question Number : 88 Question Id : 103435897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad v & TR fawenl # 9 39 fawed &1 7o &1 Sl Yk Usg &1 fddhed 181 § |
Options :

1. #= 3

2. % g

3. ¢ ek

4. % puyl

Question Number : 88 Question Id : 103435897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa uy & aR fowedl & T 39 fawed &1 999 &3 ol Y s o1 [ddhed 7ol 5 |
Options :

1. % 31

AR VI

3. ¢ YRR

4. % puyl




Question Number : 89 Question Id : 103435898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafRed Uy & TR fawedl § O 39 fadhed &1 994 &1 ol U T a1 & H1d & UG &1 Ul [dhed § |
DI, 3751 BT 7 §H ofid oI |

Options :

1. ¢ YT Yfdsdq BT

2. % ggogHG Yddld

3. % iy Ydbld

4. % 3qul gHH BT

Question Number : 89 Question Id : 103435898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa uy & aR fawedl § I 39 fdwed &1 999 o3 o fAU T8 9199 & &1d & e &1 el fdbed § |
BT, 3151 T 7 §H offd I |

Options :

1. ¢ YT Yid=q BT

2. % gdegHe Yddld

3. ® iy yddld

4. % 3qul gfHH BT

Question Number : 90 Question Id : 103435899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy IR ol 7 @ 39 fdey &1 9a &3 oY T U are & U &1 98! fdweu 3 |
fR1erp 3 el o qad! TeHr WY FRAT G|

Options :

1. % a9

2. ® IRAdIH




3. % gYod dIe
4.« Ty I

Question Number : 90 Question Id : 103435899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy IR ol 7 9 39 fdeey &1 9g &3 oY T U are & Y &1 98! fdweu 3 |
fR1efeh A gl fb qad! TeHrd Wad HRAT g |

Options :

1. % fSyara® a1
2. % WA I

3. % JYId aI

4. Oy are

Question Number : 91 Question Id : 103435900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy & aR fowdl 7 @ 39 fawed &1 9g &3 5t AT 7T 9190 & UHR & Ve &1 el fahed g |
3feT fra T gex IUE 7|

Options :

1. #® ARITdHD

2. ¢ faupriediys

3. % Yohadrdd drd]

4. % HgTHSD aTo

Question Number : 91 Question Id : 103435900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied ue o aR fawenl § ¥ 39 fawed &1 7o &L S foU T8 9190 & TSR & NE &1 Ue! fadhed g |
31T fpa ez SUa 5|

Options :




1. ® 3RATSTdD

2. ¢ umfeaiy®s

3. % Jbhdardg® ar
4. % Fogid® A

Question Number : 92 Question Id : 103435901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRed vy & IR fasedl 4 9 39 faded &1 98+ 1 ot faR1H fIg gad 91 &1 9al fadhed 37 |
Options :

1. % 1} ol 1 3T ot 7 S8, I SR TH B L - T 1A

2. % B P BT a1 Y 7 SN, BT ST E @H I 9T - BN A

3. ¢ "t Tt Y 3 Ha S, P SR TA B S - A H1A

4. # Bt frd o) 51 oft 7 SN, 1 SR & @H B W A 1A

Question Number : 92 Question Id : 103435901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed g o aR faswel O 9 39 fadhed &1 9= 1 S favw g god 919 &1 98l fdbed 8 |
Options :

1. % uft fpadt 1 3 oft 7 Ssh, P SRS WA B SN - A B

2. % Hf} forft ) s ot I S8, Y SR Y WA | Y - B HiH

3. ¢ 't fopdt &Y 3o ft AT Sl , B R ET @A B WU - A 1A

4. * P} T Y 51 4t A 3N, B S S TH B ST B

Question Number : 93 Question Id : 103435902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o IR faswedl & O 39 fdewed &1 994 &< Sl favw fag god a1 &1 del fadbeu 31 |
Options :

1. % MEH BTN U 81 v &1 afka g off Y@ SRt Iuel 3R 0id I a8d el 6|




2. ¢ ' TieM ' &1 81 U &1 foam 1 afvar § ot 1@ iaRt  30er 3iR Aid ¥ dsar w1 8 |
3. % T &1 eR 09 € fpa &1 afa & ot Y Siardt S0en 3R Jid S s di g |
4. % e BT AR 0 & fbar &1 aRE & o y@ diart 30ar 3iR Oid & dedi T e

Question Number : 93 Question Id : 103435902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad Uy o AR fawedl O T 39 faded &1 o= &< Nt R foig god d1e &1 el fadbea 81 |
Options :

1. % M 18RI T & fpur o1 Il g off 48 SR IUeT 3R i ¥ dsd1 6T 8 |

2. ¢ ' T BT 81 U &1 g &1 afar § o 1 SR 3Uer 3R Hid  dsdi el g |

3. % MM &1 R Y g fra &1 s 8 o Y S0, 30ef 3R Al ¥ dsd1ET 8 |

4. % ' TigH BT R U B foram o1 Ifea § St g, ARt [ 30er 3R Hid ¥ dSdT 38T 8

Question Number : 94 Question Id : 103435903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad v & TR faweul # ¥ 39 fadhed &1 7= & 1 fou U geTark & Tel o ara faweu 7 |
3T 3R B HT SR g

Options :

1. % §gd &AMl

2. % U JHE Al

3. % B3 B HIAT

4.  TTHTTd® QAT BT

Question Number : 94 Question Id : 103435903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & TR fawed § T 39 fawed &1 9g &3 off U T8 gerar & wet o aran fawed g |
31T 3R T BT SR ST

Options :




1. % §gd AT gl

2. % UH UM g

3. % DI BH P

4. ¢ WA AT AT

Question Number : 95 Question Id : 103435904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafed vy ¥ IR fowddl 7 9 3 fasey &1 99 3 off AT U aeifaa & Tgt 31 aren faswea 3 |
CT WISY YFh ¥, g1 3T AR A

Options :

1. % g HaT 3R g @

2. ¢ JTIHA WRa! AT gt 1ol ISTd &

3. % fufy Usd R g Sl B Al &t o gRme SR usdi 8|
4. % Y BTH ] Sleg DR -1 dleT

Question Number : 95 Question Id : 103435904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafRed Uy & TR fawedl § O 39 fadhed &1 9 &< off U T8 diifad & Tt o aran fawed g |
R} WL g 9, g1 3R HeeR §

Options :

1. % g SHE 3R g @

2. ¢ ST A BE! a8t A ISTd &

3. % fqufy Usd R gH Sl B Al &t o gRmie SRt usdt |
4. % YUY HTH I Sleg DR -1 MU

Sub-Section Number : 2
Sub-Section Id : 10343555
Question Shuffling Allowed : Yes

Question Id : 103435905 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :



No

Question Numbers : (96 to 100)

I U 7TU eI @ eaYd e Ug SR U 7Y Ul T garad ST A

I B! G 3R GRd 51 & 1T Al ¥ T Sgasi TIol g | Hel Yo T8 HRd B o1y faeedt & ufag &1 T Sgasi= 5T 8|
TSI ¥d ! foeet Ael Ya fm fafiies & gR1 Sanferd fosan STt & fors Iw, 9 3R 89 &1 U 981 U W aidl ¢ [Hel 3d &1 331
24 feaR 2002 BT Tl & ATEERT A TOIR T U g | Al & SHfAHaH s fafta Fet & SIuR 80 fhaHie ufd Her d@ 3@t TS §
i 3 RISt uRae & o SURT H form ST 8 | A X6 &1 v o fo1g RIS Hel WM &1 (AT fhar a1 § Siet Al siftread
20 TS & oIt Fhcll § 1R o Tt AT X BT AT Sf&01 HINAT HT HUAT ROTEM Fxcll ¢ | [acett # Al & hd SUANT o §1G HRd
& 3 I oI ITR TR, ISR, FRATON a8 TorTd H ¢ At &1 IR = &1 T [har S g1 7 |

Sub questions

Question Number : 96 Question Id : 103435906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR F AS) ¥ BT S5 T by g & 351 ) i g 2

Options :

1. ¢ faeait

Question Number : 97 Question Id : 103435907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T XA 3t Yo3HTd fect H e g5 2
Options :

1. % 23 STeRT 2005

2. % 11 AMXJ 2001

3. ¢ 24 fad&R 2002

4. % 1552003

Question Number : 98 Question Id : 103435908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

SART B YR TR IR XeG (v PIcT | AT g |
Options :

1. ¢ faceit wree

2. % GO Vg

3. % dcHH Req

4. % IR Tsq

Question Number : 99 Question Id : 103435909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WRd & g B ¥ &1 O 5 S @t U el B 2
Options :

1. % S UM XAd HU]

2. ¥ TI&U1 BIRAT B U ROTEM

3. % IR YeAdSl U

4. % g9 qIiifths g 9.Q

Question Number : 100 Question Id : 103435910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3fTase o fod Ifad N il |
Options :

1. % AT SR IHB! T

2. % foceht ofR Al Yerd

3. % O A DI Yoy

4. ¢ U213 &1 Sldg™

Question Id : 103435905 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)



e fau 7TU eI P YA U R U Y U T qarad SR g

ATATA D1 T SR AR - & o1 AT ¥ Th dgai- Wil ¢ | Hel ¥ I8 YRd Bt AU [Geel & IRas &1 U dgakid g1 ¢ |
Tl XA & foeet Al Xa e faffies & g1 Sarferd fohar sirar 8 o 903, o iR 67 &1 T 981 %9 G oId1 ¢ 11! X &1 3MTd
24 fEGaR 2002 B el & AMGERT T FOIRT e U g5 | el i 3Hfmar Wi fafid Tel & 3uR 80 forarte’ ufd ger d% i 718 8
Hiifh 3 SexRYS uRae & forg SughT & foran ST 8 | et ¥ad o) Soba) b T Weret Hel R o1 FHfur faban e § wigh e s
20 Y8 & ot Fhcll § 1R & Tt AT Xa o1 T gférr HIfar & Hu-t ROTEM @xal | et # Tl & T SUaNT & d1g HRA
& 3 o O ITR U, ST, §RATN 98 ToRTd & Hf At 1 & d3 &1 YA [ha1 @1 8 |

Sub questions

Question Number : 96 Question Id : 103435906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR F 7SI X BT S8 T b Iog & 35 ) e g 2

Options :

Question Number : 97 Question Id : 103435907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Al ¥d &1 Y31 faeett § odl g8 2
Options :

1. % 23 SaRT 2005

2. % 11 31X 2001

3. ¢ 24 fAdeR 2002

4. % 1552003

Question Number : 98 Question Id : 103435908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR & YR R TR X [ DI H AT g |



Options :

1. ¢ fae=f Trsq
2. % Gl Weq
3. # JIH W
4. % PR qoq

Question Number : 99 Question Id : 103435909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd & gt 41 Yot &1 a0 by o B ot el 8 2
Options :

1. % S SYM A HUA!

2. ¥ U1 DIRT BT HU- ROTEM

3. % IR YeTdS But

4. % g qTRftheh .U

Question Number : 100 Question Id : 103435910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3ffwsa o forg S i §iford |
Options :

1. % AT 3R IHB! T

2. % faceht ok At Yad

3. % WS B FiaUmy

4. ¥ TSI X BT 3fTe™

Disciplinel
Group Number : 6
Group Id : 10343546
Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 10343546

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 10343556

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 103435911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The probability of a man A winning car race is 1/3 and the probability of a man B winning the car race is 1/7. What is the probability that one of
the car wins?

Options :
1. ¥ 10/21
2. % 11/20
3. % 11/21
4. % 10/20

Question Number : 101 Question Id : 103435911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o A BT HR X Sl B IS 1/3 § 3R e B B HR X S Bt Uy 1/7 81 fh U SR BT Sfia &1 WiiiddT 1 82
Options :

1. ¥ 10/21

2. % 11/20

3. % 11/21

4. % 10/20

Question Number : 102 Question Id : 103435912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A moving object in plane has co-ordinates x = 5, y = 2 and has components of speed x = 3 m/s and y = 4 m/s at some instant of time. Find the
components of speed in polar co-ordinates r.

Options :

1. % 5.6 m/s
2.% 427 m/s
3. % 5.0l m/s
4. % 451 m/s

Question Number : 102 Question Id : 103435912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WﬁWWWWXZS,y=2%@ﬁTTﬁ$WXZ3m/s3'ﬁqy=4m/sﬂtl'q$w&‘mq?%lWﬁ%ﬁrﬁﬁ%
Y I DI

Options :

1. * 5.6 m/s

2.% 427 m/s

3. % 5.0l m/s

4. % 451 m/s

Question Number : 103 Question Id : 103435913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A moving object has a co-ordinates (9t + 4),7t,3 m in frame S at any time t .The frame st

co-ordinates of particle in sl.

is moving relative to S with velocity(51 + 3j). Find the

Options :

1. % xl=5t-5 yl=5t,71=5
2. % xl=4t-4 yl=4t,72'=4
3. xl=4t+4,yl=4t,72 =3
4. % xl=at+4,yl=4t,7'=0

Question Number : 103 Question Id : 103435913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foraft off T ¢ IR e s W AT 9 & SR (9t + 4),73 m B 1 BH s! AT (5 + 3j) Y S & YO A FR W R s! A B H
frc=Tier 1 B

Options :

1. % xl=5t-5yl=5t,7l=5

2. % xl=4t-4 yl=4t,7'=4

3. xl=4t+4, yl=4t,7'=3

4. % xl=at+4,yl=4t,7=0

Question Number : 104 Question Id : 103435914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The equation for moment of inertia of a uniform rod about an axis through its centre and perpendicular to its length is:
Options :

1. ¢ MI%/12

2. % MI%/6

3. % MI/11

4. % MI%/13



Question Number : 104 Question Id : 103435914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP G S & TSATgUl & foIE THIHRUI, S IUD g b AIHH I 318 & JHIT § 3R 3! dds & dead 8, 98 6
Options :

1. ¢ M1%/12

2. % M1%/6

3. % MI¢/11

4. % MI%/13

Question Number : 105 Question Id : 103435915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the current density in a wire of diameter 0.1cm in which current of SA flows.
Options :

1. ¥ 6.36x 10° Am™2

2. % 53x10°Am 2

3. % 44x10°Am 2

4. % 33x10°Am 2

Question Number : 105 Question Id : 103435915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0.lem 3 & IR A faggd UaTe v 1d B 59 5A $1 faggd yare yarfed gar 3|
Options :

1. ¥ 636 x 105 Am 2

2. % 53x10°Am 2

3. % 44x10°Am 2

4. % 33x10°Am 2




Question Number : 106 Question Id : 103435916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
possess magnetic moment for zero applied field.
Options :
1. # Diamagnet
2. ¥ Ferromagnet
3. # Paramagnet
4. % Earthmagnet

Question Number : 106 Question Id : 103435916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R S & & o g smguf giar 3
Options :

1. % Yfdgd

2. ¢ AB-JED

3. % D

4. % YD

Question Number : 107 Question Id : 103435917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The relation between particle velocity(u) and wave velocity(v) is given by the relation.
Options :

1. ¥ U=-vdy/dx

2. % U=vx

3. % U=dy/dx

4. % U=-dy/dx

Question Number : 107 Question Id : 103435917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

BT (u) 3R I AT (v) & o9 Gaiy, g Jeiy g1 fear man g
Options :

1. ¥ U=-vdy/dx

2. % U=vx

3. % U=dy/dx

4, % U=-dy/dx

Question Number : 108 Question Id : 103435918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The transfer of power from generator to load is maximum due to.
Options :

1. % Transmission gain

2. % Impedance matching

3. ® Coupling impedance

4. ¥ Transverse impedance

Question Number : 108 Question Id : 103435918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S TS B fosTell &7 RIMIRUT SIS [h¥d SR gl 6|
Options :

1. % TERO I

2. ¢ giaaTer gaeH

3. % g Ufderyr

4. % 3IURY YldaTT

Question Number : 109 Question Id : 103435919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



V2$=0 is the equation.
Options :

1. ¥ Laplace's

2. # Poisson's

3. % Heat flow

4. % Wave

Question Number : 109 Question Id : 103435919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
V2$=0 JHHT |

Options :

1. « oWl

2. % UigE

3. % S Udlg

4. % qA

Question Number : 110 Question Id : 103435920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
At a simple discontinuity the over shooting of Fourier series is called as

Options :

1. ¥ Gibb's Phenomenon

2. ¥ Parseval's Phenomenon
3. # Fourier Phenomenon

4. ¥ Gauss phenomenon

Question Number : 110 Question Id : 103435920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ueh IR SITd TR BRER gadll o Stfeeia (3R ) ol ARG




Options :

1. ¢ filss] uRgen
2. % UiRfad ufkge-
3. % BRI gRYeH
4. % TG gRgeH

Question Number : 111 Question Id : 103435921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If three resistors of resistances R R, and Rj are connected in series, then the equivalent resistance (R) is given by

Options :

1.¥ R=R; +R) + R3
2. ¥ R=R|-Ry-Ry
3.% R=R; Ry R;

4. % R=R;-Ry+Rj3

Question Number : 111 Question Id : 103435921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g UfeRTY & dF UfRIU® R, R, 3R R, BT e & Se1 71§, O 9HdH e Wioriy (R) 9 gR1 fean smar g
Options :

l.¥ R=R;+ Ry, +Rj3

2. % R=R;-Ry-Rj

3. * R=R| Ry Ry

4. % R=R|-R,+Ry

Question Number : 112 Question Id : 103435922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The number of molecules in 2 cubic meter of gas at 1 atm and 25° C is




Options :

1. % 5.1 x10%
2.¥ 486 x 10%
3. % 3x10%

4, % 25x10%

Question Number : 112 Question Id : 103435922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 atm 3R 25° C R IG & 2 g9 Hiex H Su[aff & T gl
Options :

1. % 51x10%

2.9 486 x 10%°

3. % 3x10%

4. % 25x10%

Question Number : 113 Question Id : 103435923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The binary equivalent of 20 is

Options :

1. ¥ (10100),

2. % (10011),

3. % (10101),

4. % (10000),

Question Number : 113 Question Id : 103435923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 BT fg 3t T gl

Options :



1. ¥ (10100),
2. % (10011),
3. % (10101),
4. % (10000),

Question Number : 114 Question Id : 103435924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the feed back energy is out of phase with the input signal and opposes it. Such amplifier is called as
Options :

1. # Positive feedback amplifier
2. ¥ Negative feedback amplifier
3. # RF amplifier

4. ® Qperational amplifier

Question Number : 114 Question Id : 103435924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS GAMHART STl 319 R & A1 ol ¥ 18R § SR SUBT UfeRkiY il ¢ | T Uaefa &l HEI o g |
Options :

1. % YIS A Tt

2. ¥ BUTHAS A Jadd

3. % RFUAY®

4. % Ifpards yade

Question Number : 115 Question Id : 103435925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g(0)= (00 f f(t)e(-at)dt is the equation of




Options :

1. ¥ Laplace transformation
2. # Fourier transformation
3. % Hankel transformation

4. % Mellin transformation

Question Number : 115 Question Id : 103435925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g(0)= .00 f(t)e(-at)dt __ ST HHIGRUIEI

Options :

1. ¢ AT 4Rl
2. % T8 YRl

3. % ghd ®UIaRUI
4. % AfH TgiaR0l

Question Number : 116 Question Id : 103435926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A set which consists entirely of interior points is said to be
Options :

1. # a Closed set

2. % an Open set

3. % a Compact set

4. % an Unbounded set

Question Number : 116 Question Id : 103435926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T = forgd It @R ¥ offaRe fig gld & 3 HEI ST g |




Options :

1. % dqd 9q=g

2. ¢ fd9d 9g=g

3. % o Hed 9=l
4. % U 1Y I

Question Number : 117 Question Id : 103435927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rest energy of an electron is

Options :

1. % 1.02 MeV
2.9 0.51 MeV
3. % 2.00 MeV
4. % 0.65MeV

Question Number : 117 Question Id : 103435927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e SaaeT @ R Sl Sk
Options :

1. % 1.02 MeV

2.9 0.51 MeV

3. % 2.00 MeV

4. % 0.65MeV

Question Number : 118 Question Id : 103435928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rest mass of photon is

Options :
1. ¥ 0kg



2. % 1kg
3. % 25ke
4, % 3 kg

Question Number : 118 Question Id : 103435928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I 1 faRH goga &l
Options :

1. ¥ 0 kg

2. % lkg

3. % 25kg

4. % 3 kg

Question Number : 119 Question Id : 103435929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The maximum rate of change in output voltage per unit of time is called as

Options :

1. ¥ CMRR

2. % Voltage gain
3. ¥ Slew rate

4. % Transconductance

Question Number : 119 Question Id : 103435929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ufd gfe Iu 3ideye favaiar # uRads @ sifiean @R &1 FHET Sl g |
Options :

1. ¥ CMRR

2. % Tleddl died




3.V ga Ui &R
4. % 3ARETAD

Question Number : 120 Question Id : 103435930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The de-Broglie wavelength associated with a 20gm of ball with the velocity of 20ms5 is
Options :

1. ¥ 16.57x10"%m

2. % 20x10%m

3. % 25x10%m

4. % 10.99x10*m

Question Number : 120 Question Id : 103435930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20m/s & I & TTY 20gm Tig T ST & -Siah aiTged g
Options :

1. ¥ 16.57x103*m

2. % 20x10%m

3. % 25x10%m

4. % 10.99x103*m

Discipline2
Group Number : 7
Group Id : 10343547
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0

Group Marks : 20
Is this Group for Examiner? : No
Discipline2
Section Id : 10343547
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 10343557
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 103435931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the velocity with which the energy in the group is transmitted.
Options :
1. # Average velocity
2. % Wave velocity
3. ¥ Group velocity

4. # Intantaneous velocity

Question Number : 121 Question Id : 103435931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 97 § Fores a1y aig  Sort SR gidit gl




Options :

1. % 3fd o

2. % QAT

3. ¥ QHE AT

4. % qreforsh o

Question Number : 122 Question Id : 103435932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The total magnetic flux through a surface surrounding a magnetic dipole is always
Options :

1. # Maximum

2. % Minimum

3. # Constant

4. ¥ Zero

Question Number : 122 Question Id : 103435932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T goo1 4 P IRI 3R U g & A ¥ $d g 1 aTE gHM g gl

Options :

1. % 3ffYyhdn
2. % Y-AdH
3. % fudi®
4. ¥ J[Y

Question Number : 123 Question Id : 103435933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The cross product of electric field vector and magnetic field vector is known as

Options :



1. ¥ Poynting vector
2. % Null vector
3. % Orthogonal vector

4. % (Co-initial vector

Question Number : 123 Question Id : 103435933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faqya & afewr iR dae g &7 Tfex & TG UHGd & P FY H SIH a1 g |
Options :

1. ¢ @i giewr

2. % YW

3. % qifde Gl (SNURTH daey)

4. % Hg-YRIYH Gicwr

Question Number : 124 Question Id : 103435934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Wein's displacement law, the peak in the black body spectrum shifts to shorter wavelength as the temperature
Options :

1. ¥ Increases

2. % Decreases

3. # Constant

4. % becomes zero

Question Number : 124 Question Id : 103435934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A faeuTos s & SFUR, IT99H & R HVHT WIeH BT 9RA fog HH T ¢l & ged Aar gl

Options :

1. ¢ dg




2. % gaq
3. % fgdie
4. % TYGISH

Question Number : 125 Question Id : 103435935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The particles which obey Pauli -exclusion principle are called as
Options :

1. % Boson

2. % Photon

3. ¥ Electrons

4. * Quanta

Question Number : 125 Question Id : 103435935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T3 3fUdel o &1 UTer - aTd Ul &I Hel oIl &
Options :

1. % /A

2. % Bl

3. ¢ gdaCH

4. % ®IcT

Question Number : 126 Question Id : 103435936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Transition which belongs to the Lyman series of hydrogen atom will be:
Options :

l.¥" n=4ton=1

2. % n=4ton=2



3.¥ n=5ton=2

4. ®* n=3ton=2

Question Number : 126 Question Id : 103435936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AU oY BTS IS URHTY] b1 o3 a- gl § Teifdid €, 98 BT
Options :

.¥n=4¥Un=1

2. % n=4¥n=2

3.% n=5Un=2

4. % n=3Yn=2

Question Number : 127 Question Id : 103435937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hybridization of CIOF; will be:

Options :
1. = sp3
2. % sp‘2
3.9 spid
4, % sp3d2

Question Number : 127 Question Id : 103435937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
CIOF; &1 Ul (FTSIISTIoIRH) BRT:
Options :

1. % sp3

2. % sp2



3.¢ spid
4. % sp3d2

Question Number : 128 Question Id : 103435938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Conversion of a matter directly from solid to gas is termed as:
Options :

1. # Condensation

2. % Sublimation

3. % Fusion

4. % Vaporization

Question Number : 128 Question Id : 103435938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

it uerd &1 3 ¥ WY 79 H uRad- &l HeT T8 :
Options :

1. % guaq

2. ¢ U

3. % gogq

4. % GrIHRT

Question Number : 129 Question Id : 103435939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At high temperature and low pressure condition the Van der Waal equation will be:
Options :

1. % (P+a/V2)V=RT

2. ¥ PV=RT

3. % P(V-b)=RT



4. % (P+a/V?)(V-b)=RT

Question Number : 129 Question Id : 103435939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I A SR o gre Rl # a1 S aret gefier g
Options :

1. # (P+a/V?)V=RT

2. ¥ PV=RT

3. # P(V-b)=RT

4. % (P+a/V?)(V-b)=RT

Question Number : 130 Question Id : 103435940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which reagent given in the options can distinguish between 1-butyne and 2- butyne?
Options :

1. % alc.KOH

2. ® HCI

3. % NaNH2

4. ¥ Tollens reagent

Question Number : 130 Question Id : 103435940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fameal o fam 7 & A1 SfiSHHS 1-FTR 3R 2-FCT8 & i SR HR Tl 82
Options :

1. # alc.KOH

2. % HCI

3. ¥ NaNH2

4. ¢ TrA BT AfHBHB



Question Number : 131 Question Id : 103435941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which compound will have a bond angle of 180°?
Options :

1. # alkane

2. % alkene

3. ¥ alkyne

4. % cycloalkane

Question Number : 131 Question Id : 103435941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{5 T o1 ey BT 180° BRI
Options :

1. % 3fch

2. % TehH

3. ¢ Tchlgd

4. % Gr3adUen

Question Number : 132 Question Id : 103435942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is true for cyclic process?
Options :

1.¥dE=0;dH=0

2. % dE>0;dH<0

3.% dE<0;dH>0

4. # Cannot predict

Question Number : 132 Question Id : 103435942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofied o ¥ 319 91 Io1g ufshan & fou 9 52
Options :

1.¥dE=0;dH=0

2. % dE>0;dH<0

3. % dE<0;dH>0

4. % d-gfrd 781 B gl

Question Number : 133 Question Id : 103435943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When there is no increase or decrease in the internal energy of the system then the first law of thermodynamics can be described as:
Options :

l.¥ q=-w

2.% AE=qt+w

3. % w=q+AE

4. % q=AE-w

Question Number : 133 Question Id : 103435943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WIS YUl Bt 3fidRes Foif H BIg gieg T BT ST Bl B Y SRS & Uga faH &1 39 TR afdid fohar St Gepar ©:

Options :

1.¥ q=-w

2. % AE=q+w
3. % w=q+AE
4. % q=AE-w

Question Number : 134 Question Id : 103435944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Species that will be isoelectronic with Argon is:
Options :

1. ¢ p3

2. % N3

3.% 0¥

4. % Mg>*

Question Number : 134 Question Id : 103435944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THR Sl 3 o 1Y A AT 1+ GITT:
Options :

1.¢ P35~

2. % N3

3. % 027

4. % Mg>*

Question Number : 135 Question Id : 103435945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The correct order of acid character of the following inorganic acid will be:
Options :

1. ¥ HCIO<HCIO,<HCIO3<HCIOy,

2. ¥ HCIO,<HCIO<HCIO5<HCIOy4

3. ¥ HCIO4<HCIO3<HCIO,<HClO4

4. % HCIO<HCIO4<HCIO,<HCIO;

Question Number : 135 Question Id : 103435945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AT SIPpIad 3d & 3 0T &1 el hH GHT:
Options :

1. ¥ HCIO<HCIO,<HCI03<HCIO,

2. % HCIO,<HCIO<HCIO3<HCIO,

3. % HCI0,<HCIO3<HCI0,<HCIO,

4. % HCIO<HCIO4<HCIO,<HCIO;

Question Number : 136 Question Id : 103435946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the correct formula for chloroform:
Options :

1. ¥ CHCls

2. % CaOCls

3. % CHsCl

4. % CaOCl

Question Number : 136 Question Id : 103435946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

1. ¥ CHCls

2. # CaOCls

3. ¥ CHsCl

4. % CaOCl

Question Number : 137 Question Id : 103435947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Name of reaction in which acid chloride is reduced to aldehyde in the presence of palladium on support of barium sulphate:



Options :

1. # Cannizzaro reaction

2. ¥ Rosenmund's reduction
3. # Clemmensen Reduction

4. ® Meerwein-Ponndorf-Verley reduction

Question Number : 137 Question Id : 103435947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 Affhar &7 AH Farzd foaH IRgH Getbe &1 JeIdl R UafeaH ot SuRIf A TRis wiRgs, tfcssss # 3ufd 8 oiidT 8:
Options :

1. % BioIRT ST

2. ¢ JA[FUE U

3. % FAH-G 3T

4. % ARfGA-OHSIh-dd 3Taa=

Question Number : 138 Question Id : 103435948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the oxidation state of I in H4IOg ?
Options :

1. % 4

2.% 5

3.% 6

4.7

Question Number : 138 Question Id : 103435948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
H4I0, B 11 SHTRITDHRUN a1 1 gRiTo

Options :



1. % 4
2.%5
3.% 6
4.9 7

Question Number : 139 Question Id : 103435949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which ligand in the given options is a flexidentate ligand ?
Options :

1. ¥ NO3

2. % SCN

3. % CNO

4. % OH

Question Number : 139 Question Id : 103435949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e fawmedl & 9 »H W fovls rafdas e fefig g 2
Options :

1. ¥ NO3

2. % SCN

3. % CNO

4. % OH

Question Number : 140 Question Id : 103435950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the complex will be highly distorted:
Options :

1. ¥ [Cr(H,0)6]**



2. % [Cr(H,0)¢]>"
3. % [Mn(Hy0)6]*"
4. ® [Fe(H,0)¢]>"

Question Number : 140 Question Id : 103435950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
DI T U d Srafdie fa=fid gn:
Options :

1. ¥ [Cr(H,0)6]**

2. % [Cr(H,0)6]*"

3. ® [Mn(H,0)4]%"

4. ® [Fe(H,0)q]*"

Discipline3
Group Number : 8
Group Id : 10343548
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline3
Section Id : 10343548

Section Number : 1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 10343558
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 103435951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The , which can distinguish primary, secondary, and tertiary amines, is based upon sulfonamide formation.
Options :

1. ¥ Hinsberg test

2. # Lucas Test

3. # Ring Test

4. % Baker Mulliken's Test

Question Number : 141 Question Id : 103435951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
, ST omiflep, fgciae SR qaiad THIH & 3R R 9ohdl §, T HHSS T3 TR YR |

Options :

1. ¢ TEaaT uRlefor

2. % GDHMY U&r

3. % AT ol

4. % qobR GfeTaT URIGT

Question Number : 142 Question Id : 103435952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Nitroethane when reacts with zinc dust and ammonium chloride, it yields:
Options :

1. # Ethanamine

2. ¥ N-ethylhydroxylamine

3. # ethyl nitrile

4. % Nitromethane

Question Number : 142 Question Id : 103435952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS T SRl Yfer SR AR & A1y S1NfohaT o3 7, d I8 SUd HRal o:
Options :

1. % TYHIZA

2. ¥ TA-TRCRTR g IToRIerTS

3. % QQ ATgergd

4. % qECHIA

Question Number : 143 Question Id : 103435953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Unit of rate constant for zero order reaction will be . (M = Molarity : s = second)
Options :

1. ¥ M/S

2. % M 157!

3. % MS?

4. % M257!

Question Number : 143 Question Id : 103435953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A Pife 3ifehar & fore @R RIS &1 A BN (M= HITRdT: s= 4$h3)
Options :

1. ¥ M/S

2. % M g7

3. % MS?

4. % M2571

Question Number : 144 Question Id : 103435954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose correct statement about the Collision Theory:

Options :

1. # All collisions are effective

2. # All collisions are violent

3. % Fraction of collisions form the product which have sufficient amount of energy
4. ® All collisions forms product

Question Number : 144 Question Id : 103435954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4o Rigid & SR H gl HYT BT T PN

Options :

1. % gt g gurd 8

2. % It Tg ved §

3. ¢ TUT & 3R 98 IUTG -d1 ¢ ForeH Tt JE H Sl gt &

4. % i} YT ITE 910 &

Question Number : 145 Question Id : 103435955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the condition is true for working of electrolytic cell?



Options :

1. % AG>0,E=0
2. % AG<0,E=0
3. ¥ AG>0,E<0
4. % AG=0,E=0

Question Number : 145 Question Id : 103435955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faggd sroee 9d & HTH FHA & faw S A FRufa I 82
Options :

1. ® AG>0,E=0

2. ® AG<0,E=0

3. ¥ AG>0,E<0

4. % AG=0,E=0

Question Number : 146 Question Id : 103435956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of isomerism is present between glucose and fructose?
Options :

1. # Chain isomerism

2. ® Optical isomerism

3. ® Position isomerism

4. ¥ Functional group isomerism

Question Number : 146 Question Id : 103435956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3R Pae ol & dd fohd TR &1 THIGIad! HINlE 82
Options :

1. % G JHAIId]




2. % IffPHd gHAGd]
3. % QY JAGII]
4. & HObILITd-iOb {'“'LE; HHJlddd]

Question Number : 147 Question Id : 103435957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a principal quantum number of the shell (n)=3, then the number of the orbitals in the shell will be:
Options :

1. % 12

2.% 5

3.% 6

4. %9

Question Number : 147 Question Id : 103435957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS A &1 T HicH G-AT (n)=3, O VA H Hefeh! b T gft:
Options :

1. % 12

2.% 5

3.% 6

4. ¥ 9

Question Number : 148 Question Id : 103435958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which complex will have the highest CO stretching frequency?
Options :

1. % [Ti(CO)¢]>~

2. % [V(CO)¢]



3. % [Cr(CO)]*~
4. ¥ [Fe(CO)¢*"

Question Number : 148 Question Id : 103435958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fbd dpal T I=dd Co Mgy Tid (¢ Wi gifl?

Options :

1. ® [Ti(CO)¢]>~
2. % [V(CO)]™
3. % [Cr(CO)]>~
4. ¥ [Fe(CO)¢*"

Question Number : 149 Question Id : 103435959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the value of x in the Co complex [Co(CO);]X, considering it obeys 18 electron rule.
Options :

1. % -1

2. % 2

3.¢ .3

4. % 4

Question Number : 149 Question Id : 103435959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Co BITERT [Co(CO);]X H x BT AF 1d B, T8 A U o Tg 18 Faae 1 [+1aH BT 3IHR0I HRT ¢ |
Options :

1. % -1

2. % 22



3.¢ .3
4.% 4

Question Number : 150 Question Id : 103435960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following radiations will have the lowest frequency?
Options :

1. # IR radiation

2. # Microwaves

3. # UV radiation

4. ¥ Radio waves

Question Number : 150 Question Id : 103435960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefaa 4 9 fovyg fafeor o srghy 9a@ &0 grit
Options :

1. # IR fafor

2. % AT

3. % yv fafeor

4. ¢ ST T

Question Number : 151 Question Id : 103435961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following types of chlorophylls are present in green plants?
Options :

1. ¥ Chlorophyll a and b

2. ®* Chlorophyll a and ¢

3. ¥ Chlorophyll a and d



4. % Chlorophyll b and ¢

Question Number : 151 Question Id : 103435961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofefed 7 9 g UeR @1 uuighd, Y uradl  r ST &2
Options :

1. ¥ UigRd a 3R b

2. % EI'UT_E:ﬁ_daG‘ﬁTC

3. % gUigRd a 3R d

4. % gofgRd b 3R ¢

Question Number : 152 Question Id : 103435962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Enzymes which catalyse the conversion of fats to carbohydrates are present in:
Options :

1. % peroxisome

2. ¥ glyoxysome

3. % liposome

4. % microsome

Question Number : 152 Question Id : 103435962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ISl BT BraERgcH | URddd ISR HA ardt TorgH, frad IufRd 81 -
Options :

1. % TR

2. ¥ TS SHIRIEH

3. % QIEUH

4. % HISHIEH




Question Number : 153 Question Id : 103435963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct sequence of stages in the cell cycle?
Options :

1. % M, Gl1,G2,S

2. % GI,S,M, G2

3.9 GL,S,G2,M

4. % G1,G2,S, M

Question Number : 153 Question Id : 103435963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIRIDT Feb H TRUN BT Tl ohH FafeRad 7 I HH 182
Options :

1. % M, G1,G2, S

2. % G1,S,M, G2

3.9 GL,S,G2,M

4. % G1,G2,S, M

Question Number : 154 Question Id : 103435964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rhizopus or bread mould represents a type of fungus.
Options :

1. # saprophytic

2. % parasitic

3. % symbiotic

4. % autotrophic

Question Number : 154 Question Id : 103435964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

RIES0E 1SS B Blpal bR Bl Hah BIll o |
Options :

1. % gageidl

2. ¥ TRl

3. % ggoid!

4. % Ol

Question Number : 155 Question Id : 103435965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following nutrients is mobilised by Mycorrhizal fungi from the soil to the roots of plants?
Options :

1. ¥ Manganese

2. % Potassium

3. % Sulphur

4. ¥ Phosphorus

Question Number : 155 Question Id : 103435965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEHINIA Had gRT Jal ¥ UIGUl &1 STe| adb HEiRad & I S 91 Uiy da URd far S g2
Options :

1. % WS

2. % OIeRrH

3. # e}

4. v BIEHRY

Question Number : 156 Question Id : 103435966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following compounds is NOT seen in bryophytes?
Options :

1. # Cellulose

2. % Lignin

3. # Chlorophyll

4. % Amino acids

Question Number : 156 Question Id : 103435966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STApTgeT H Mo & § &1 91 Aifies 18t urar ST 82
Options :

1. % Yogefrol

2. ¢ fafo=

3. % qUigRd

4. % SHI ST

Question Number : 157 Question Id : 103435967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the dicot plants, cambium present between primary xylem and primary phloem is called:
Options :

1. # interfascicular cambium

2. % vascular cambium

3. % unifacial cambium

4. % cork cambium

Question Number : 157 Question Id : 103435967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faatorost arel & mufie gRe (STsad) iR WTUfie 31eidTe (FauH) & Hed IURYd THT (H1RIaH) B o B8l ol 8



Options :

1. % 3RTYfeTen] TYT
2. ¢ HagHl Tyl

3. % THUT U

4. % P TYT

Question Number : 158 Question Id : 103435968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Abnormal secondary growth is found in:
Options :

1. ¥ Dracaena

2. # Cucurbita

3. % Triticum

4. % Helianthus

Question Number : 158 Question Id : 103435968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFoffed o 9 fead s/ fgdiae gfa rs ot &:
Options :

1. ¢ ST

2. % PHPHRAeC

3. % fefesH

~

4. % glem=mg

Question Number : 159 Question Id : 103435969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following methods is used to determine the age of the tree?
Options :



1. #* Number of branches
2. * Number of leaves
3. % Stem girth

4. % Number of annual rings in the stem

Question Number : 159 Question Id : 103435969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ger 31 3mg fefied w7 & forg Faforiaa o @ fra faftr o1 Suah o wmar 22
Options :

1. % QIRETSl i AT

2. % Uil Bt e

3. % T BTN

4.« T qIitids aordll &1 e

Question Number : 160 Question Id : 103435970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Castor oil is extracted from which of the following plants?
Options :

1. % Brassica campestris

2. % Ricinus communis

3. % Sesamum indicum

4. % Linum usitatissimum

Question Number : 160 Question Id : 103435970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed § 9 forg urey ¥ SRSl o1 da it fasar S g2
Options :

1. % SRy Hufey



2. ¢ Rib=19 Hgfg
3. % ggaA 3fspH

4. % forre gRyerieRmy
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Question Number : 161 Question Id : 103435971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A mutation in which deletion or insertion of one or a few nucleotides occurs is called:
Options :

1. # transition

2. % transversions

3. ¥ frameshift mutation

4. % missense mutation

Question Number : 161 Question Id : 103435971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U IARTd ) 1 BT o1 & o T U1 po Yfawaierss faefid gid € a1 ufay 81d 7
Options :

1. % QRITEA (CIfSTRM)

2. % SR (SFdST)

3.« ST oo (%o R0 Iaiac

4. % IO (i) Iaad

Question Number : 162 Question Id : 103435972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following types of enzymes is required to unwind the two strands during DNA replication?
Options :

1. # Primase

2. % Topoisomerase

3. ¥ DNA polymerase

4. ¥ Helicase

Question Number : 162 Question Id : 103435972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sl TN (DNA) UdET01 & SR aHI Il WiaH & ol Fafafad # 9 &1 91 TS1gH 319 8idl 82




Options :

1. * UTgHY

2. % TSI

3. % SITA.T (DNA) Ul
4. ¢ gy

Question Number : 163 Question Id : 103435973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Initiation of a polypeptide chain is brought about by which of the following amino acids?
Options :

1. ¥ Methionine

2. % Tyrosine

3. # Leucine

4. % Tsoleucine

Question Number : 163 Question Id : 103435973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GiUPTES e &1 GARYH Fafiad & 9 fbg sl st gRT e S g2
Options :

1. « AR

2. % TR

3. % wgdH

4. % Il

Question Number : 164 Question Id : 103435974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following changes occur at high pH (>10) in DNA?
Options :



1. ¥ The H bonds between the bases of two strands break.
2. # The glycosidic bonds between sugar and base break.
3. # The phosphodiester bonds break.

4. ¥ The DNA precipitates.

Question Number : 164 Question Id : 103435974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TT (DNA) § FefiEd § § &9 91 uRad= 3= pH (>10) TR 8IdT 82
Options :

1. ¢ G XSD| & SMYRI & A H HTEY ¢ ST g |

2. % YHT R &R & 19 WEHZS! &Y ged & |

3. % BHIOpHISIER AEY Ted 7|

4. % SITAU (DNA) 33T BT g

Question Number : 165 Question Id : 103435975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following food chains is correct?
Options :

L% Butterfly = Plant = Grasshopper = Bird

. Grass = Rabbit = Deer = Lion
2.

; % Leaves = Beetles = Camel = Man

. Herb = Insect = Bird = Snake



Question Number : 165 Question Id : 103435975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o @ ®F T @ R 98t 32

Options :

. Tddedt > gred > fegr > vail

1.

g > @ - > W

2. %
s x URRT> YT > $He > 7Y

4 v &> DlT > Hell > 9y

Question Number : 166 Question Id : 103435976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Spraying pesticides on plants is least dangerous to which of the following types of organisms?
Options :

1. # Herbivores

2. % Second level carnivores

3. ®* First level carnivores

4. ¥ Producers

Question Number : 166 Question Id : 103435976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiRad 7 9 {59 UeR & Sial & Y, ol IR SleRiD! B [SShid Iad HH W1 87

Options :




1. % MPTERT
2. % T WR & HEERI
3. % TYH TR & ANBRI
4. ¢ IdGH

Question Number : 167 Question Id : 103435977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following systems of classification was used by Linnaeus?
Options :

1. * Natural system

2. % Artificial system

3. # Phylogenetic system

4. % Evolutionary system

Question Number : 167 Question Id : 103435977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iy A Faffed 3 3 forg avffezor gumredt o1 v fasar um
Options :

1. % Qi Yola

2. S oI

3. % Wfffgftics yomeit

4. % fqeprgard] yomef!

Question Number : 168 Question Id : 103435978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The correct sequence of taxonomic ranks from Genus upwards is:
Options :



Order = Family = Division = Class
Family =2 Order = Class = Division

3 % Class = Family = Order = Division

Family = Class = Division = Order

Question Number : 168 Question Id : 103435978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT SW BI 3R aRfT AR BT 951 64 ©:

Options :
|y U B > WHRT > T

L o B> T > T > GHIT

L T A>T > THIT

4 % > T > THIT > 00

Question Number : 169 Question Id : 103435979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where is the embryo sac located in angiosperms?



Options :

1. % Seed

2. % Embryo

3. ¥ Endosperm
4. ¥ Ovule

Question Number : 169 Question Id : 103435979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SfTaeTon H YU HIRT Hal (Ud gl o7
Options :

1. % ool

2. % YUl

3. % YUy

4. ¢ dNig

Question Number : 170 Question Id : 103435980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If in an angiosperm, the male parent plant is diploid and the female parent plant is tetraploid, the ploidy of the endosperm will be:
Options :

1. ¥ pentaploid

2. # haploid

3. % triploid

4. # tetraploid

Question Number : 170 Question Id : 103435980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe U amgaeish &, 7R qa g feagord giar & 3R Arar ot dver B Sidm 2, df Yurdiy ot U Fefifad 3 9 e @ gl

Options :



1. ¢ Gerpfora
2. % 3O
3. % fforg
4. % IO

Question Number : 171 Question Id : 103435981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dormancy of seeds may arise due to high levels of which of the following hormones?
Options :

1. # Auxin

2. % Abscisic acid

3. # Gibberellic acid

4. % Cytokinin

Question Number : 171 Question Id : 103435981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed & I frd g &1 TR S 9 & HRUT ol H YUl S 81 Tl 82
Options :

1. % 3ifo

2. ¢ TRl 31T

3. % foTeRferep s

4. % GrgIDbIgA4

Question Number : 172 Question Id : 103435982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Oxygen evolved during photosynthesis arises due to the breakdown of:
Options :

1. ¥ water



2. % chlorophyll
3. #* carbon dioxide

4. % sugar

Question Number : 172 Question Id : 103435982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiad # O fow & faged & SR UHT=T YR & SR HTaRfioH 337 gt &:
Options :

1. ¥ SIcd

2. % yufgRd

3. % Pa SRS

4. % YR

Question Number : 173 Question Id : 103435983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sequence of intermediates in the pathway of photorespiration is:

1. Phosphoglycolate
2. Glyoxylate

3. Serine

4. Glycine

Options :

1. % 1,2,3,4
2.91,2,4,3
3.%2.1,3,4
4. % 2,1,4,3

Question Number : 173 Question Id : 103435983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UHTRIT 49 ARt & Hegafdal &1 98t hH HH AT 8:



1. BIEpRATZPITC
2. TG 3fTfeacie
3.4

4, TS
Options :

1. % 1,2,3,4
2.¥1,2,4,3
3.%2.1,3,4

4. % 2.1,4,3

Question Number : 174 Question Id : 103435984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Movement of water from cell to cell through the cytoplasm occurs through:
Options :

1. ¥ plasmodesmata

2. # membranes

3. # sieve tubes

4. # tracheids

Question Number : 174 Question Id : 103435984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIRABIEET & HIH Y 5d B Th U G-I DI adb Gaad, FHafaiad & § foad gR1 g 6:
Options :

1. ¥ TSHISTHICT

2. % foreedl

3. % e ARIbTY

4. % aMRFBIY (FPTS)

Question Number : 175 Question Id : 103435985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In plant tissue culture technology, organogenesis involves:
Options :

1. # culture of plant organs

2. ¥ formation of plants from callus cultures

3. % meristem culture

4. # formation of cells from protoplasts

Question Number : 175 Question Id : 103435985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UIGU &adh Jad= Menfiiet &, sty & oar affferd 82
Options :

1. % UIGY 3fqudl o1 Hae

2. « U1 (o) GadHt J urenl o1 fFmio

3. % faUIas dagH

4. % Sagad I HIRTGTSH &1 fFaior

Question Number : 176 Question Id : 103435986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a eukaryotic organism whose cells contain a nucleus but is not an animal, plant, or fungus?
Options :

1. ¥ A protist

2. % A protozoa

3. % A monera

4. ® A parasite

Question Number : 176 Question Id : 103435986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frufafad o @ HF 1, U ghaa! (GeRafes) ia § e Sk & te S Ur Sl § Afd a8 U Sid, UIey a1 Had 6l 82
Options :

1. ¢ Uoild (Uifexe)

2. % Yleronaf

3. % AT

4. % TURSd!

Question Number : 177 Question Id : 103435987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following branches of science deals with the principles describing the cycling and recycling of organic and inorganic substances
along with interactions and inter-relationships among the organisms and between organisms and the physical environment?

Options :

1. % Oncology
2. % Topology
3. % Ecology
4. % Biology

Question Number : 177 Question Id : 103435987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fa ! Fafafea & 9 ®F I Iran, SEF® 3R @S ddl & 0T 3R G0l 9UT Joiidl § a7 Feiidl 3R Hifde gaiar &
Aem Sfafharalt 3R SiaR-Tae 1 gui B aret Rigidl BT 31eaa el 82

Options :

1. % IR fagH

2. % G fag (CIurersi)

3. ¢ TIRFRUfa®! o

4. % Safag=

Question Number : 178 Question Id : 103435988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following are the smallest units of life and hence are often referred to as the ‘building blocks of life’?
Options :

1. % Bio-cons

2. # Species

3. # Neurons

4.+ Cells

Question Number : 178 Question Id : 103435988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sila ) Had SIS 318 HIF A & 3R Ol 39 BRI Siia BT F{Ue Ts i daard o2
Options :

1. % SR-DH

2. % gulfaai

3. % D] DIRBIY

4.« DIRIBY

Question Number : 179 Question Id : 103435989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The smallest known cells are a group of tiny bacteria called:
Options :

1. % phloem

2. % Phytoplasmas

3. ¥ mycobacterium

4. ¥ mycoplasmas

Question Number : 179 Question Id : 103435989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T BICT 1A HIRABIT S G&H SATI[3T &1 Th THE &, foreh! 39 AH I ST oIl &




Options :

1. % TQgH

2. % BISCIEoH

3. % APIeaINTH
4. ¢ OB ISH

Question Number : 180 Question Id : 103435990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
With reference to the chordates, state whether the following statements are true or false.

I. Chordates have three embryonic cell layers.
II. Their nervous system is centralised.

Options :

1. # 1. True II. False
2. # 1. False II. True
3. # I. False II. False
4. % 1. True II. True

Question Number : 180 Question Id : 103435990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It Sital & ded H any fos FafeRad sy 981 €, a1 Taa g |
13! Sital J - YOT PIFRAHT TR BId 5|

11,311 dfAT dF Hatadd gidl g

Options :

1. % 1. 98! 1. 7Teid

2. % 1. 7Id 11 I8t

3. % 1.77d 1L 7Teid

4.+ 1. 98! IL. Tal




Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 181 Question Id : 103435991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Discipline5

10
10343550

Discipline5

10343550
1

Online
Mandatory
20

20

20

Yes

1
10343560
Yes

The adjustment of an animal’s response to changes in the environment are called:

Options :

1. ¥ acclimatisation



2. # captaincy
3. % signalling

4. % diversion

Question Number : 181 Question Id : 103435991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Taferr # g ara gRkad-i & forg, faredt Siq &t grmieH ufdfehan &1 a1 &8l <l 6
Options :

1. ¢ Gdg@a

2. % I

3. % Hebd

4. % fquy

Question Number : 182 Question Id : 103435992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two systems are involved in co-ordination in animals. These are the and systems.

Options :

1. #* nervous, neuro

2. % nervous, endocrine

3. #* nervous, neuro-chemical

4. # nervous, fuzzy-neural

Question Number : 182 Question Id : 103435992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S A gHag F S dA g g1 3R RERSGE]
Options :

1. % dfAp, diEeT

2. ¢ dfAeHY, Sid:9rdl




4. % dF®N, SRuy-dEe™

Question Number : 183 Question Id : 103435993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Biochemistry or biological chemistry is the study of within and relating to living organisms.
Options :

1. ¥ chemical processes

2. # biological processes

3. % mechanical processes

4. # bio-mechanical processes

Question Number : 183 Question Id : 103435993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Toital H, 3R I Ty § BT AT NI T AfJeh IHIALRA Bl |
Options :

1. ¢ IS UshH

2. % Sq UhH

3. % gifAd UshH

4. % S-9I3F Uhd

Question Number : 184 Question Id : 103435994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sub-discipline of both chemistry and biology, biochemistry may be divided into three fields, EXCEPT:
Options :

1. # structural biology

2. # metabolism

3. ¥ ophthalmology



4. # enzymology

Question Number : 184 Question Id : 103435994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RN 3R SaasH & T SU-favg StavareH & FafaRad & 9 fews sifafved o ast & fauifrd fasan s wewar g:
Options :

1. % IRITAD Safag=

2. % IYUdy

3. ¢ Al

4. % TogH fagme

Question Number : 185 Question Id : 103435995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All mammals have 7 cervical vertebrae, EXCEPT in manatee and in ant bear.
Options :

1. % 6,5

2.% 4,8

3.% 5,5

4.9 6,8

Question Number : 185 Question Id : 103435995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e R} 3R AR (T TRy & & sifafead v WUt Sigait & 7 a1 FRe® ue of1d g |
Options :
1. % 6,5
2. % 4,8
3.%55

4.9 6,8



Question Number : 186 Question Id : 103435996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following options is NOT a part of various surfaces of the body of vertebrates?
Options :

1. # Dorsal

2. # Ventral

3. #® Lateral

4. ¥ Torrent

Question Number : 186 Question Id : 103435996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafRad & I ®IF 91 fadhey, HRISH! oiial b IRR & [AfqY GBI BT U YN Tl 62
Options :

1. ® ggg

2. % 3IYEIY / IR

3. % Uiy

4.+ CRT

Question Number : 187 Question Id : 103435997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following options is NOT a part of various surfaces of the body of vertebrates?
Options :

1. # Anterior

2. # Posterior

3. % Median

4. ¥ Mean

Question Number : 187 Question Id : 103435997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafefed & @ &1 91 fade, HRTH! Sitdl & IR & fafae ggi &1 ue yrT gt 82
Options :

1. % 3prgdf

2. % ggyadl

3. % [eggdf

4. v HY

Question Number : 188 Question Id : 103435998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process can be understood as the maintenance of the overall stability of the physiological processes of the body. It is monitored
by the brain and nervous system and regulated by the physiology and activity of individual organs.
Options :

1. # hypostasis
2. * allostasis
3. ¥ homeostasis

4. # hyper stasis

Question Number : 188 Question Id : 103435998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UshH &) IRR B efed Ufharshi &) Tuv fRRET 99718 I8 & U H GHSM o Johdl ¢ | AT 3R dfeT dF gR1 39b1
e foaT I § 3R gy 3T & IRIRST 3R fhareman gr1 39 fafafia fear s g1
Options :
1. % 3f=NgRu
2. % TARSR a1 ufa-grRifas
3. gARIfS
4. % Jforifos




Question Number : 189 Question Id : 103435999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In biochemistry, a is a linked series of chemical reactions occurring within a cell.
Options :

1. # digestive scenario

2. % metallic pathway

3. * mechanical pathway

4. ¥ metabolic pathway

Question Number : 189 Question Id : 103435999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIaRYTE H, U TS BHIfRHT H g arell i siffharel &) Yae Jad gl 8|
Options :

1. % U UReRY

2. % Ylfcdd TY

3. % gif3e Uy

4.« JUIY UY

Question Number : 190 Question Id : 1034351000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to biochemistry of metabolic processes, the reactants, products, and intermediates of an enzymatic reaction are known as:
Options :

1. ¥ metabolites

2. % parasites

3. % electrolytes

4. ¥ stag mites

Question Number : 190 Question Id : 1034351000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T UhH! B STRIADT & G H, Torstt siftifsarsfi & SifiieRe®, IdTe 3R Hegad! HafaRad § ¥ 1 g g
Options :

1.« 3UTIIaS

2. % TRofd!

3. % gAdCIdIge

4. % LIARCH

Question Number : 191 Question Id : 1034351001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following branches of biology deals with the studies on the composition, structure, and interactions of cellular molecules?
Options :

1. # Molecular oncology

2. % Molecular biology

3. % Molecular typography

4. ¥ Molecular monopoly

Question Number : 191 Question Id : 1034351001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shafawr @t Fafed & 3 o omar & SIRe el & Yued, TaT 3R sfafdharsit o1 srera foar Sfrar 82
Options :

1. % ATARIER 3fidpIars (3nfigds FHa fasm)

2. ¥ ATIGgeR SATaron (3f0ge Siafasi)

3. % HICIRYCR TISUIATGT (3110 HEUIfas)

4. % HTARIER HHIYA (TUID THIUBR)

Question Number : 192 Question Id : 1034351002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The central dogma of molecular biology describes the process in which is transcribed into which is/are then translated
into protein.

Options :

1. ¥ RNA, DNA

2. ¥ DNA, RNA

3. # DNA, molecules
4. # RNA, metabolites

Question Number : 192 Question Id : 1034351002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3foaes Sfiafag o1 Foia Rigid 39 U &1 9uiq Frar g forgd G2l # yfafafy fear srar g SR/fore R i &
uRafdd fear Srar 8|

Options :

1. % RTAU (RNA), SI.TAT. (DNA)

2. ¢ BITAT. (DNA), 3R.TA.T. (RNA)

3. % SITAT (DNA), 3T

4. % ARTAU (RNA), SUTTIS (HeTdIdISey)

Question Number : 193 Question Id : 1034351003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Clinical research and medical therapies arising from molecular biology are covered under:
Options :

1. % DNA therapy

2. % RNA therapy

3. % gene therapy

4. ¥ metabolic therapy

Question Number : 193 Question Id : 1034351003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25



3TfOge Siafag & fbl S a1 AeT-e S 3R ffddaa Star MHafifed & 9 fewe siarid eird &
Options :

1. ¥ SITAT (DNA) ITIR

2. % RUAT. (RNA) ITIR

3. ¥ S IUER

4. % IUTTT (ATSIId) ITAR

Question Number : 194 Question Id : 1034351004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A unit of inheritance that usually is directly responsible for one trait or character is called as:
Options :

1. # neuron

2. # molecular traits

3. % protein

4. ¥ gene

Question Number : 194 Question Id : 1034351004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25

T Ueh faRIves 31 A&f01 & fod Tedef &0 I SRR G-I 3bTs DI HHfeRad § I 31 gl offdl o
Options :

1. % G HIRBT (RRM)

2. % 3ffuge faRIvSH

3. % UidH

4. SfH

Question Number : 195 Question Id : 1034351005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Each individual has two for each trait, one comes from the father and the other from the mother.



Options :

1. ¥ genes

2. # neurons

3. % molecular traits

4. # protein

Question Number : 195 Question Id : 1034351005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ude g & U faRives (den & few gid &, o I U T 9 SR gERT H1a1 § T giaT g |
Options :

1. ¢ S

2. ¥ GRS RGN (FRF)

3. ® 3TfUgs fa=Iveh

4. % i

Question Number : 196 Question Id : 1034351006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following phenomena is the central unifying concept in biology?
Options :

1. #* Upgradation

2. ¥ Evolution

3. % Exploration

4. # Incremental development

Question Number : 196 Question Id : 1034351006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. % JFNBRI
2. ¥ IgfddTy
3. % 3(dyUl

4. % Hil® faery

Question Number : 197 Question Id : 1034351007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the subfield of biology that studies the evolutionary processes such as natural selection, common descent
and speciation that produced the diversity of life on Earth?

Options :

1. # Evolutionary networks
2. % Evolutionary neurology
3. % Evolutionary biology

4. % Evolutionary chemistry

Question Number : 197 Question Id : 1034351007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Siiafa & oy Iued # f[amrauRe Ul oY fob Ui aRuT, T d=ehd 3R TSl ul &1 e fordt Sl 7, o gt R
e & fafte $U Iae gu B?

Options :

1. % fQPRRS Acad

2. % fBTIURS e fagm=
3. ¢ 9IRS Stafazm

4. % fqHNIURS TIAfAI™

Question Number : 198 Question Id : 1034351008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the underlying genetic basis of a phenotypic trait and its variational properties.
Options :



1. # Genetic map
2. % Genome sequencing
3. % Genetic building

4. ¥ Genetic architecture

Question Number : 198 Question Id : 1034351008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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, AT (BiICTS ) faRive 3R 3% URad-=id TUIeH! &1 sfaffed STJafid SuR g1 |
Options :
1. # 3fdR® gl
2. % S 3fIhH
3. % 3{TIAfRID T
4. ¢ 3RS TR
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Correct Marks : 1 Wrong Marks : 0.25

In most cases of a metabolic pathway, the product of one enzyme acts as the for the next. However, side products are considered
and removed from the cell.

Options :

1. #* filtrate, waste

2. % gsubstrate, filtrate
3. % superstrate, waste

4. ¥ gsubstrate, waste

Question Number : 199 Question Id : 1034351009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Options :

1. ®% fwie, sufy

2. % YR, g

3. % JfERR, 3Ry
4. ¢ YR, SURY

Question Number : 200 Question Id : 1034351010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25

The tail of which of the following animals is opposite to the head and extends past the anus?
Options :

1. ¥ Chordates

2. # Protista

3. ¥ Pseudocoelomates

4. % Chariots
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Options :

1.V XD

2. % Yol (Uifewer)

3. % PHediamt

4. % gRge



